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Chapter — II1I

Description of Data — Quantitative, Qualitative Use,

3.1.. T.V. NEWS Sa2B - 020

3.1.1 Table No.l1

Statistics And Interpretation

Percantage of

Words Occurrence Frequency of Frequency of
Pronunciation Pronunciation Pronunciation
Near R.P. Which 1s Indian Near R.P.

[) Articles

a) a oes8 028 000 100%

by an 00s 0oo 008 0%

c) the 145 119 026 8e.6%

d}» some o0oe oae 060 100%

IIY Conjunctions

a: than - - - -

b) and 050 001 049 2%

c) but - - - -

d) as 008 000 008 o%

2) that 009 000 009 (1)

I1I) Pronouns

a) he 010 0o2 008 20%

b) his 009 008 001 88.688%

3@



Words Occurrence Frequency of Frequency of Fercentage of

Pronunciation Fronunciation Fronunciation

Near R.P. Which is Indian Near R.F.
=}  her oo 001 001 350%
dr» him 001 000 001 0%
e) them - - - -
f)l us - - - -
1V) Prepgositions
a) at 015 001 014 b.ETY
by for D12 000 o12 oY
cy of 065 001 Dé&4 1.54%
d) to 040 00é 034 70%
&) from D10 0a7 003 15%

V) Auxiliaries

alr am - - - -
b) is 005 001 004 20%
c) are ooe 000 oo2 o4
d) was D10 o5 0os S0%
e) be ae ooz 000 100%
f}@ do - - - -
g} does - - - -
h) has oe1 000 oa1 0%
i) had 003 ooz 001 6604
i) have 013 a]ala] 013 0%
k) shall - - - -
1y will 020 0oo 020 o
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Frequency of Frequency of Percentage of

Words Occurrence
Fronunciation FPronunciation Pronunciation
Near R.F. Which is Indian Near R.P.

m) would - - - -

n? can - - - -

o) must - - - -

3.1.2 - Analysis Observation and Comments

I) Articles

(a) ‘a' - There are 28 occurrences of the article "a' and all

the occurrences are pronounced as /2/ which is a weak form.

Indian speakers tend to use/e/ instead of /2/ or /¢I/.But surpris-
ingythe newsreader has pronounced /3! which is R.P.

Examples - 1) a bomb blast SEB 020 Page No. 1. Line No. 2.
2y a burst of a cracker S2B 020 Fage No.2 .

Line No.1.
(b) ‘an' - The article ‘an' is pronounced S times and all the
occurrences of it are unacceptable. ‘An' is not pronounced as

R.™./on/, but it is pronounced as /xn/which is a strong form.
Examples - 1) an election meeting S2B 020 Fage No.1l.
Line No.5.
2) an official spokesman said 82B 020 Page No.J.
Line No.12.
The newsreader has used /xn] avery whera. We can say that the
newsreader has used /In|/ possibly because the following word

begins with a vowel sound as it is noticed in the examples cited

above.
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(c) ‘The' ~ Article "the' has been pronounced 145 times

and it has been pronounced acceptably (Near R.P.) 119 times and

it has not been pronounced properly (Pronunciation which is

Indian} 26 times -

There are instances when ‘the' is pronounced as /7%3/ whenever

there is consonant after it. Such kind of pronunciation is near

R.FP. But all the times /3] is pronounced as /ﬁ[.
Examples - 1) The former Prime Minister S2B 00
Fage No. 1. Line No.1.
2) The government 52B 020 Fage No.3 Line No. 1.
So we can give several sxamples of acceptable use of ‘the' / ¥/

which is near R.F.. We can also mention some examples where 'the'

i1s pronounced as /BI/where there is a vowel after it.

Examples - 1) The assassination S2B 020 Page No.3.Line No.7%,

2) At the age of S2B 020 Page No.4 Line No.J.

But sometimes, we have noticed that instead of using / 37 /_,the~

acceptable right form, the news reader uses / 32/,

Examples - 1) In the accident S2B 020 Page No.2:-Line No.{.

2) The United States S2B 020 Page No./.Lirne No.l9.

3) The assassination of Mr. Rajiv Gandhi S2B 020

Fage No.7, Line No.lg.
And sometimes instead of using / 32| the acceptable right form, the

news reader uses /ﬁi/as in following examples.

Examples -~ 1) The working committee GS2B 020 Fage No. 2.

Line No.ly.
2) he Fakistan Prime Minister S2B 020 Fage No.%.

Line No.(.
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From these examples it appears that the speaker is confused about

the use of article ‘the‘</§3, oy | 31 ) which depends upon the

phonetic environment. 'The assassination' is a phrase which 1is

pronounced by the speaker a lot of times. Sometimes ‘the' 1is

pronounced as / 32/ and sometimes it is pronounced as /3I/ .We can

state that the speaker wants to give stress on the words

following "the', and so the is pronounced as /3L!.

(d) some - Both the occurrences‘of the article ‘some’ are

acceptable. They are identical with R.FP. pronunciations

Example : 1) Some shops 2B 0RO Fage No. 9. Line No.7.

IT}Y Conjunctions

(a) than and but do not at all occur in the text.

(k) and — And is pronounced 50 times and only once it is pro-

rounced as a weak form./?n],

Example - 1) 'Schools and colleges S2B (020 Fage No.3,

Line No.11.
it

In rest of the occurrences it is not pronounced the way

should be.It is different from R.P. Sometimes ‘and' is pronounced

as /an/ which 18 neither a strong form, nor a weak form., and

sometimes 1t is also pronounced as 1xnd-| which & strong form. But

the strong form has been used by the speaker unnecessarily.

In the following examples [Xh| has been pronounced.

Examples - 1) and Congress I- President S2E 020 Page No. 2.

Line No.@.

2) Vice President and the FPrime Minister S2B

020 Fage No.§5 Line No.4.
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In the following examples kxnd/ has been pronounced

txamples - 1) *and against democracy'S2B 020 FPage No. §~-§5,

Line No. 18(p.5)

2) and the polling scheduled S2B 020 Page No.11.

Line No. 3.

S0 the speaker 1i1s unaware of the use of ‘and'

(c) as - The conjunction ‘as' is pronounced 8 times and

all the occurrences are unacceptable as they differ from R.F.

All the occurrences of ‘as' are pronounced as ﬁxll which is a

strong form,

s he received S2B 00 Fage No. 1.

Examples - 1) 'As
Line No. 15%.
2) as & mark of respect 2B 020 Page No.3.
Line No.G.
(d} that - The conjunction ‘that' has been pronounced 9

times and all the times it is pronounced as /3Xt] which is not a

waak form. It is never used as a weak form.

Examples - 1) That it is just appealing S2B 0RO Page

No.8 Line No.1i.

2) decided that polling S&B 020 Fage No.11.

Line No.b6.

The R.P. weak form (3?L]has not used./ %] in ‘that'is pronounced

as Indian variant }J{,
n

II11) Pronouns

(a} he — The pronoun ‘he' has been pronounced 10 times and £

times it is pronounced in an unacceptable, way which is different
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from R.F. and twice it is pronounced acceptably. The strong form
of ‘he' is /hii] and weak form is [i!/ .But we have surprisingly
found it out that 'he' is pronounced as /h1[neither [i:] nor [hi:].
The following are examples of pronunciations of ‘he' as/h1/

Examples =~ 1) Later he joined politics S8B 020 Page No.4.

Line No.3%.

2) He said in S2B 020 FPage No.§ Line No. 1.

"He' has been pronounced as /hi:/ acceptably because when ‘he'
comes at the initial position it becomes strong, as in following
example.
Example - 1) He had his early esducation S2B 020 Page No. 3.

Line No.1%.
only twice 'he' has been pronounced as/h/which is R.P.
Example - 1) He received a few garlands 852B 020 Fage

No. 1. Line No.13.
So we can state here that thig Indian speaker is not aware of the

weak form [i:/] and strong form [hit] and their phonetic envi-

ronment and the Indian speaker is using a different variety
which is different from R.P. weak and strong form. The variety
is use of /hI| instead of/i!/ and Jhit].
(b) his -~ 'His' has been pronounced 9 times and 8 times it
has been pronounced acceptably with regard to R.P. and only once
it is pronounced in an unacceptable way.

The weak form of ‘his' is [ I2/ .Following are the examples

where /[/IZ/ has been pronounced.

Examples -~ 1) Smashing is head instantly S2B 020 Fage

No. 4 Line No.qS.

2yof his mother S28B 020 Fage No. 1. Line No. 17
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Unacceptable Use of 'His' as lh12].

Example - 1) cut out his visit S2F OB Fage No. (. Line No.{3.

(c) her - ‘Her' has oceurred twice in the text and it is once

pronounced acceptably as [3:] R.P. weak form and once it is

‘her!

pronounced in an unacceptable way as/hN/.Fronunciation of

as [hdt| in the following example.

Example -~ 1) her daughter S2B 020 Page No.2. Line No.l6.

Pronunciation of ‘“her'as /Bil (R.P.)

Example ~ 1) On her way. S2B 020 Page No. 2+ Line No.17%.

(d) him - "Him' is only occurred once and it is pronounced

as |htm] and not R.P. |Tml.
() them - Not occurred in the text .

(f) wus - Not occurvred in the text «

IV) Prepositions

{(a) at - The occurrence of ‘at' is 15 times and 14 times
it is pronounced as /If/ which is not R.P. and only once it 1s
as lat! which is R.PF. llt/ is pronounced in the

pronounced

following examples.

Examples - 1) at the age SBB 020 Page No.§. Line No. §.

2) at the death S2B 020 Fage No.9.Line No.10.

ht! is pronounced by the speakers in the following example.

Example - 1) FPlaced at strategic locations S2B 020

FPage No.10 Line No.12.

(b)Y for — The weak form of 'for islpﬁ before consonants, and

Hﬁ?[ before vowels. Here the preposition '"'for' is pronounced

12 times and all the occurrences of 1t are unacceptable.
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Sometimes /folis pronounced, sometimes /fov¥/ is pronounced. Follow-
ing are the examples where [fo/ is pronounced.
Examples - 1) and won acclamation for sending emergency
S2B 020 Page No.4 Line No.1S,
2) Bill for the uplift S2B 00 Fage No..4.
Line No. 16.
In the following examples, /{pr/ has been used even if there is a
consonant after it.
Examples - 1) To pray for these S2B 020 Fage No.§.
Line No. 4.
2) for the twenty third May 628 0B0
Fage No. 11 Line No. 7,
So we can observe the Indian tendency of pronouncing /¥ avery
where., Indian speakers tend to use /¥ every where without
locating the phonetic environment.
(c) of - The weak form of ‘of'is /3Vl.The occurrence of ‘of'
in the text is &5 and 64 times “of' is pronounced in an
unacceptable way. It is pronounced ale{y or [ov/]. Only once it is
pronounced as {3Vl . 10V Pronounced in the following examples.
Examples - 1) The statue of his mother S2B 020 Fage No. 1.
Line No.11.
2) twentieth of August S2B 020 Fage No. 3.
Line No.13.
In the following example IoFl is pronounced by the news reader,
Example - 1) the event of S2B 020 Page No.liLine No. (%
Only once ‘of' is pronounced as /av!.
Example - 1) In the incidents of violence 828 020

Page No. 4. Line No.Z%,
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(d)> to - The preposition’'to’ has been pronounced 40 times

and 34 times it has been pronounced in an unacceptable way as

Itul .Only &6 times it is pronounced as R.P.[t3/.
In the following examples Itv] has been pronounced by the speaker.

Examples - 1) I appeal to all people S2B 020 Page No.5.

Line No. 15
2) drove straight to Rashtrapati Bhavan S2B O0OPO

Page No. 10 Line No. %,

The following are the examples where 'to' is pronounced as /ta/.

Examples - 1) was also blown to pieces SPR 020 Fage No. 2.

Line No.?2.

2) dashed tg New Delhi §2B 020 Fage No. (o

Line No.1%.
We can not make any statement here about the difference between
the use of /tdand [tv].The speaker is not conscious in the use
of ‘to' . The speaker is unsystematic in the use of "to'
—There are 10 occurrences of “from' and 7 are pro-

{(e) from

nounced acceptably like R.F. /fwaﬂl and 3 are pronounced in an

unacceptable way as /from/. In the following examples, the

speaker has pronounced [fyaml .

Examples - 1) fifty kilometer away from Madras Se2B 020

Page No.1. Line No.S5,
2) Agency reports frpom Allahbad S28B 020
Page No. 9 Line No.( .
In the following examples}PHMﬁhas been pronounced by the speaker.
The AIR correspondent understands from police

Examples - 1)
office S2B 020 Fage No.2 Line No. §-
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2) He won his first election battle from Amethi

S2B 020 Page No.4 Line No. 5.

V) Auxiliaries
(a) ‘am, do,does, shall, would, can, must' have not occurread
in the news reader's speech.
(b is — 'Is' has been pronounced 5 times. All the occurrences
of ‘'is' are pronounced by the speaker as /IZ] . /11jis a strong
form which 18 pronounced where the following words start
with/S,Z,S, B,tS, d3/ But the newsreader never uses /S/ or
/2/. The news reader always uses /12/.
The following is an example where /12/ is acceptable.
Example - 1) It is just appealing 8S2R 020 Fage No.g-
Line Nc.}_

But it is not purposeful use of/IzLIn the following examples also
the newsreader uses [IZ/.
Examples - 1) ig being flown S2B D20 Fage No.l Line No. #.

2) The body of Mr. Rajiv Bandhi is being brought

to S2B 020 Page No.2 Line No. M

This Indian speaker has never used /2] or /S| which is a weak
form.
(cy are - ‘Are' has been pronounced twice and both the

occurrences are unacceptable from the point of view of British
R.F. In the following example 'are' has been pronounced as rd vf
instead of /37|
Example  ~- 1) ‘Forces are assisting' SEB 020 Page No.l10

Line No.l%.

d) was - The auxiliary ‘was' has been oronounced 10
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times, and surprisingly we noticed that O times it is accept-
ably pronounced as /way and S5 times it is pronounced as ﬂooz/ s
which is an unacceptable pronunciation.
In the following examples/woll has been pronounced.
Examples - 1) Mr. Gandhi was about to address S8R 020

FPage No. 4. Line No.5

2) There was a loud explosion SEB 0OBO
Page No.l. Line No.14.

In the following examples Iwaz/has been pronounced by the

speaker.
Examples - 1) The dais was proceeding 8S2B 020 Page No. 1-

Line Nea.lq .
2) Mr. Rajiv Gandhi was born on S2B 020 Fage No.3.

Line No.13.
We can point out that generally the speaker uses /WOZ( when it
works as a Main Verb and the speaker uses /W2 when it becomes a
helping verb.
{(e) has — ‘Has' has been pronounced 21 times and all occur-
rences of ‘has' are unacceptable. It is pronounced as /hlzl which
is a strong form even if there is no necessary of using a strong
form. It is twice or thrice pronounced as/hazJ and only
once it is pronounced as /gl!. But all the occurrences are unac-
ceptable if we locate the phonetic environment.
In the following examples, fha2/has been used, which is neither a
weak form, nor a strong form.
Examples - 1) The government has taken. S2B (020 Fage No. §.

Line No. {7,
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2) which has shocked. S2E 020 Page No.l

Line No.3.

In the following examples /92| has been used by the newsreader but

1f we locate the phonetic environment, we can find it out that

[32] has used in an unacceptable way because it is used only

after [ 6,2, 5,2, tf,dz /.

So in the following exampla,/gz/ has been used by the newsreader

unecessarily.

Example - 1) The govermnment has declared 8S2B 020

Page No. 3. Line No.Y.

In other examples we can find out that [hx2| has been usad with-

out any reason.

Examples -~ 1) Mr. Rajiv Sandhi hasg been killed SEB 020 Fage

No. 4. Line No. B 1.

2 Priyanka has already reached S2ZB 020

Fage No.2 Line No. |7,

(f) have - ‘“Have' has been pronounced 13 times and every

as /vl orlvi. The

time it is pronounced as [hy. It is never used

following are the examples where /hXV/| has been used by the

newsreader.

1) Three police officers have been killed S2B 020

Example -
Page No.2 Line No.4.
(g} had - ‘Had' has been pronounced only once, and it is also

an unacceptable use from the point of view of Brithsh R.F. Had is

pronounced as [ hXd | when it comes as a Main Verb or when it comes

at the beginning of the sentence. But this speaker has used the

strong form/bmﬂunnecessarily. The weak form/&i/ornﬂ has not used
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1) The lone lady who had come to S2B 020

Example -
Fage No.2 Line NoAd .
(h) will - All the 20 occurrences of 'will' are unacceptable

as will is always pronounced as/uﬂﬂ/and never asbl} orft] . It is

used as a strong form while the phonetic context demands the weak

form.
Examples - 1) The body of Mr. Gandhi will be kept S2B 020
Fage No. 2 Line No.13.
£2) central offices will remain closed S2B 020
Fage No.2. Line No. (@,
(1) be ~ The weak form of be is /blland it is prornounged by

the speaker twice and all the occurrences are acceptable.

Examples - 1) will be kept S2B 020 Page No.?
Line No.13%.

2) what will be SPB 020 Page No.l Line No.{8.

3.1.3 - General Comments.

I) Articles :

1) Article a has been pronounced by the newsreader as

Y

) even if is the Indian tendency of pronouncing,it as fel ov jex],

i1i) /An] is pronounced by the newsyreader.

the speaker knows the phonetic

While pronouncing the
and it is pronounced as /3?2 or /3T/ depending

i confused.

111
environment, upon
the phonetic context. But sometimes the speaker
is acceptable

iv) Some has been pronounced as Eam/which

R.FP. weak form.
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I1) Conjunctions :

i) ‘And' has been pronounced as eilther /ln/orlxnd/ by the
speaker.
ii) ' As' has been pronounced as /X2/ .

1113 ‘That' has been pronounced as /[ 3Xt/ and never /¥at/.

I1I) Pronouns =

1) ‘He' has been pronounced generally as /AT| neither as a

strong form [ hi!] nor a weak form Feli:l.
ii) 'His' has been pronounced as R.P. /I2/ which is weak form.
111) ‘Her' has been pronounced as /ha:/once and (9'| once. Sso
the speaker is confused about the used of ‘“her'.

iv) ‘Him' has been pronouncaed as [him| and not as R.P.;Iﬂ7ﬁ

IV)Prepositions 32
i) "At' is pronounced generally as /xtl.

R ‘For' is pronounced unacceptable way as /QW/ or/PO/ and

neverﬂérf or/féL

iii) 'Of' has been pronounced as /bfl or lovi.

iv) ‘To' has been generally pronounced as/tU( ot Ital the
weak from or /tW|the strong foram.

v) 'From' has been genevrally pronounced as /f}gml.

V) Auxiliaries :

i) '1s' has been pronounced as /I%/.

1i) ‘Are' has been pronounced as /d![ or [d¥].

iii) ‘Was' has been pronounced as NUDllas well ags /wad‘so the

speaker is confused about ita use.
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iv) 'Has' is pronounced as /hX2[and never as [32/,(2] oY Is/.

v} ‘Have' is pronounced by the speaker as ! hxvi.

vi)

vii)

‘Had' is pronounced by the speaker

‘Will' is pronounced by the speaker

as [hxd (.

as (wIl/and never

lal| ¢
viii) 'Be' is pronounced as R.P. [b1/.
3.2 T.V. TALK s2B 029 1CE 20
3.2.1 Table No.2
Words Occuwrrence Frequency of Frequenty of Fercentage of
Fronunciation Fronunciation Pronunciation
Near R.P. Which is Indian Near R.FP.
I) Articles
a) a 033 021 o1z 63.63%
b) an Doz 000 0as 0%
c) the 1466 095 071 57.82%
d) some 006 oo2 o004 33.33%
I1) Conjunctions
a) than - -~ - -
b)Y and 071 000 071 0O %
c) but 011 007 004 63 .63%
d) as 0a9 D00 009 0%
e) the 030 001 oe2 3.33%
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Words Occurrence Frequency of Frequency of Fercentage of

Pronunciation Fronunciation Fronunciation

Near R.P. Which is Indian Near R.F.
II11) Fronouns
a) he 004 004 000 100%
b} his 001 000 001 0 %
' him ooz 000 ooz O %
d) her - - - -
e) them - _ - _
f) us 006 aoe 004 33.33%
IV) Frepositions
a) at 003 ooo 003 0 %
b) for 017 000 017 0O %
c) of 103 001 10e 0.97%
d) to 038 Qo0 038 0%
e) from 013 000 013 0 %
V) Auxiliary
a) am - - - -
b) is 017 Qo0 D17 0 %
c) are 035 001 034 2.85%
d) was 008 000 0os g %
e) be - - - - A
f) do D04 001 D03 25.0%
g) does - - - -
h) has 007 0ao 007 o
i) had 003 000 00s (R
i} have 008 Dao 0os L A
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Frequency of Freqgquency of Percentage of

Words Occurrence
Fronunciation Pronunciation Fronunciation
Near R.P. Which is Indian Near R.P.

k) shall 001 000 001 0 %

1) will goe a0o0 002 O %

m) would 001 0o 001 0 %

M)} can 016 200 016 O %

0) musat 001 001 000 100%

3.2.2 Analysis, Observation and Comments -

I Articles

(a) ‘a' .There are 33 occuwrrencea of article 'a', out of which

‘21’ occurrences are acceptably pronounced like 2/ R.P. and 12

occurrences are pronounced in an unacceptable way. Sometimes /2/

has been pronounced as /e/ not “ﬂ/,which is a strong formg

sand sometimes it is pronounced as Ia) weak form.
Following are the examples where fe| has been pronounced.

Examples - 1) Take a small item SE2B 029 Page No. 1.

Line No.§,

2) to a different kind S2B 029 Fage No.3%,
Line No.9.

And following are the examples where /3| has been pronounced.

Examples - 1) Person gets a shock SBB 029 Page No 2.

Line No.15.

3) on a clean slate S8R 029 FPage MNo.1i2.

l.ine No.1% .
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(b) ‘an' -~ There are 2 occurrences of article ‘an' and both

the occurrences are unacceptable. The speaker has pronounced /(xn/

in the following examples.

Examples - 1) They give vyou an assurance S2B 029
Fage No. 8 Line No. 10 -

2) an ISI Mark S2B 029 Page No. 8. Line No. 10

Ferhaps the speaker has pronounced /xn| because the following

word startswith vowel.

(c? the - Article 'the' has been pronounced 166 times and
?S times it is pronounced acceptably and 71 times it is preo-

nounced in an unacceptable way. There are instances when “the' isg

acceptably pronounced as R.P.
The is pronounced as [ 32/ when there is a consonant after it -

Examples - 1) The last programme SBR 029 FPage No. 1

Line No.l

2) The home SEB 029 Page No.9 Line No. 8.

‘The' is also pronounced as /3L as in the following examples when

there is a vowel after it.

Examples - 1) The other situations S2B 020 Fage No.2.

Line No.l16.

2) Following the instructions S2B 029
Page No.4 Line No. 10.

Sometimes we notice that instead of using the right form/%I/ the

speaker uses [% as in the following example.

Example - 1) The examplea S2B 089 Fage No. 4. Line No.4.

S0 many times instead of using [ %3] the speaker uses | 3T).1¢%

seems that whenever the speakers wants to give stress on the next
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syllable at that time ‘the' has been pronounced as/ytl.
Following given are some of the examples.
Examples - 1) The poor S2B 029 FPage No.1iine No.14.
2) The most paramount S2B 029 Page No. 1:
Line No.5.
From the examples given above we state that the speaker is una-
ware about the right use of article [%? or [3I]/. 'The home' is a
phrase, which occurs twice in the text. Once it is pronounced
as ISI/ home and once/ 33/ home .
(d) some ~ Article ‘some’ has been pronounced & times and 3
times 1t is accurately, acceptably pronounced asiSAML Thrice it
is pronounced as strong form ISAMI unnecessarily.
leam| has been pronounced in the following examples.
Examples - 1) some measure S2B 029 Page No.4 Line No. 1
2) some areas SEB 029 Page No. 4 Line No. 9
/SMﬂIStrong form has been used in the following examples.

Examples - 1) because of gome defect SE€B 0289 Page No. 2

Line No. 1%"

2) some articles or gome components &2B 029

Page No. 4 Line No. I17-19.

I1) Conjunctions :

(a) and — The conjunction 'and' has been pronounced 71 times
all the times it i1s pronounced in an unacceptable way. It is
always pronounced as /1n| or/lndLIt seems that the speaker is

not at all aware of the weak forms DNIor/hi . The following are

the examples where /xnd has been used by the speaker.
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Examples - 1) And there are cases S2B 089 Fage NoJ

LA A

Line No. .
And as a result of S2R 029 Fage No. L.

2)
Line No.?,
In the following examples /xn| has been pronounced by the speaker
Examples - 1) Their concepts and connotationa S2B 029
Page No.L1' Line No.3.
2) person gets a shock and he gets killed GSEB
029 FPage No.2 Line No.16.
(b) but ~ 'But' is pronounced 11 times and 7 times it is
acceptably pronounced as ib?ﬁand 4 times it is pronounced as [bat{.
"] bat]/ has been used in the following examples.
Examples - 1) We might suffer but there are $2B 029
Fage No.5 Line No.3.
2) but what can be done S2B 0B9 Fage No.?#.
Line No. 10
lbat] as  in the following examples is used unnecessarily
Examples - 1) We do not realise but if the poor or unsafe
SeB 029 Page No.1 Linme No.14.
2) Very interesting one put foreign one SEB 029
Page No.9 Line No.9 .
{(c} as — The Conjunction ‘as' has been pronounced 9 times 1t
is pronounced as/;l/ which is a strong form unnecessarily.
Examples -~ 1) as a regadl SEB 089 Page No.j Line No./q.
2) We can illustrate ag to how for 82B 029

Fage No. 1 Line No. .

So it seems that the speaker is unaware of the weak form [22/.
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(d) that - There

are 30 occuwrrences of conjunction ‘that'.

29 times 1t is pronounced aslaxqumich is unacceptable and only

once it is pron

ounced as/jatl.Following are the examplea where

| 3xt] has been used.

Examples - 1)

2)

In the following

Example - 1)

(e) ‘than' - No

III) Pronouns :
(a) ‘he' - ‘He'
it is pronounced

Evamples - 1)
a2)

(b)Y ‘him' - Him'
it is pronounced

weak form of

Examples - 1)
2)

(c) his - There

pronounced in an

which means that S2B OP9 Fage No. 3

Line No.f&,
option 1is given that S2B 029 Page No.g

Line No.3

example only /#3t/ has been used.

dealing with that kind of 382B 029 Fage No.§
Line No.41S7

occurrence of °than’

has been pronounced 4 times and all the times
as a weak form [i:].
he gets killed S2B 029 Page No.2 Line No. 16.

and is he able to S8B 02% Page No. 4§,

Line No.g

has been pronounced twice and both the times

as [hTm|which is unacceptable from the R.P. The

*him' is [/Im] but it is never pronounced.

available to him S2B 029 Page No.l.Line No.1l:
injury suffered by him 62B 029 FPage No./l
Line No. g,

is only 1 occurrence of pronoun ‘his' which is

unacceptable way as [h12] and not iIZ/or I2/ orisi.



Example - 1) "then his liability S2R 029 Fage No.§

Line No.13.
So the speaker is not aware of the weak form of ‘his',
(d) her - No occurrence of ‘her' is in the text.
(e) them ~ No occurrence of ' them' is in the text.
(f) us -~ The pronoun ‘'us' has been pronounced & timea and
four times it is pronounced in an unacceptable way and twice 1t
is pronounced as R.P. weak form, ‘us' has been pronounced as
/as] in the following examples.

Examples - 1) all of ug S2B 029 Fage No. 5 Line No.?2.
2) to help ug SBB 029 Page No.5” Line No.3 !7

It is twice pronounced as /23sf.

Following is an example.

Example - 1) Let us take SEB 029 Page No.5 Line No.l&

vi) Prepositions

(a} at - Freposition ‘at' has been pronounced 3 times and

all the occurrences are pronounced as the strong fcrmlxi/unneces—

sarily.

Example - 1) We should look at some of the other items 62F
029 Page No.2 Line No.9 .

(b)) for —~  The preposition ' for' has been pronounced 17

times and all the occurrences are unacceptable. ‘For' has been

pronounced as/{b/ or |f0Y] instead of /fﬂ or HBTI.The speaker has

used I{fovl even if there is a consonant after it or even if there

18 a vowel after it. 8o the speaker has used fﬁ?*/ orH}j

anywhere without locating the phonetic environment.
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Examples - 1) Take for example ( /f07] is used) SEB 029

Page No. 2 Line No.10.

2) for insulation ( /[{o/ is used) S2B 0E9 Fage No.b
Line No.13,.
(c) of - The preposition 'of' has been pronounced 103 times
and 102 times 1t is pronounced in an unacceptable way. in some
instances the speaker uses /DV/ and in some instances the speaker

uses ]Df/ .The following are examples where the spaaker uses/bﬁh

1) paramount of all S2B 029 Page No.4 Line No.§

Examples -
2) We think gf consumer SBEB 029 Page No.1l
Line No.§
In the following examples ‘of' is pronounced as /0V/.
Examples - 1) The area of consumer safety S2B 0B9

Fage No.Y Line No.l3 .

2) example could be of SEB 029 Fage No. 2.
Line No.y,

The weak form /2v/ has been acceptably used only once.

1) Wide range of goods S2B 029 Fage No.l

Example -
Line No.§
14
(d) to -~ ‘Ta has been pronounced 38 times, and all the

occurrences are unacceptable. 'To' has never used as a weak form.

It is always used as /tv/| Indian variant and never [t?/ weak form

or strong form [tWi],

Example - 1) right to safety, right to information, right

to choose S2B 029 Page No.l Line No.2 $ 5.

(e) from - ‘From' has been used 13 times and all the times

1t is pronounced as Jﬂom}which ia a strong form. It is

never pronounced as Hhmﬁlnfact, the strong form i1s not necessary.
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Examples - 1) To suffer from cancer SBB 029 Fage No. 10
Line No.2.
2) Free from germs S2B 029 Page No.1 Line No.A0

The speaker is not aware of the use of weak form

V) Auxiliaries :
(a) ‘am, does' do not occur at all.

(b} is - 'Is' has been pronounced 17 times and all the

occurrences of it are unacceptable. The strong form /12 is used

all the times and the speaker never used the weak forms/z/ or (5].

Examples -~ 1) Transportation of hazardous chemicals ig
involved. 82B (029 Page No.3 Line No. 1.

2) The asbestos material is used S2B 029 Fage
No. o Line No.12.
() are - Qut of 335 occurrences of ‘are' only one occurrence
is acceptable and 34 times it is pronounced in an unacceptable
WAy . 'Aré' is pronounced as /A!¥y] even if the following sound is

a vowel or a consaonant.

Examples - 1) There are cases S2B 029 Page No.2 Line No.l1.

2) Consumers are exposed S2B 029 Fage No. 4
Line No.7,
sometimes /d:/ has been used by the speaker,

Example - 1) Wordsmanship are not of proper order S2B 09

Fage No.}3 Line No. 5.
(d) do - ‘Do' has been pronounced by the speaker & times

and 3 times it is pronounced in an unacceptable way and only

.

once it is acceptably pronounced. But all the occurrences of ‘do
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are as Idu:/the strong form or /d3l the Indian variant. Where as
only in one example there in necessity of using the strong form.
Example - 1) can die and do die S2B 029 Fage No. 3%
Line No.1s

Here 'do' is a strong form /du!/,
In other examples /dv/ has been used by the speaker,
Examples ~ 1) 'Whether dg they carry an ISI mark 82B 0OB9

Page No.y Line No.5§.
2) we do not realize SBB 029 Page Nod Line No.lb.

The speaker has used[dvl instead of using strong form /du%/

or weak form ldal.

(e} had -~ ‘Had' has been pronounced 5 times and all the
occurrences of it are unacceptable. It is always pronounced as
[hxd| and wnever the weak form/3d/ or [dl.
Examples - 1) We had seen S2B. D29 Page NoJ/l Line No.1:

2) Who had suffered S2B 029 FPage No.M Line No. 2
(f) has - ‘Has' bas been pronounced 7 times and all the
times the strong form /hxz/ has been used unnecessarily. It is
never pronounced as /22] /2l ov ISl.
Examples - 1) That one has to be S2B 029 Page No. /

Line No. 3

2) There has been situations S2B 029 Fage No.(

l.ine No.2.

(g) shall - 'Shall'is pronounced as /yﬂ/which is a strong

form. It is only once pronounced.

Example ~ 1) How much money shall be paid 2B 029 Fage No. i
Line No. 1
(hy will - "Will'is pronounced twice and both the occurrences
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has not been pronounced as /2!/ or

unacceptable.Will

are
b but /wIl/ the strong form unnecessarily.
Example - 1) There obviously will be a question SEB 029

Page No. # Line No.J.
(i} would - ‘Would' has been pronounced only once and it 1is

2

pronounced as a strong form/uﬂﬂﬂand not the weak from/3d/ or /d.

1) what one would like to S2B 029 Fage No. .11

Example -
Line No.?#.
(33 can - ‘Can' has been pronounced 146 times and all the
It 1s pronounced

it is pronounced in an unacceptable way.

times
as a strong form [Kxnl and the weak form(Kdn/ has never been used.

1) Consumers gan and should protect 62B 029

Examples -
Page No.Q Line No.+

2) Large number of people can die 2B 029

Page No.3 Line No.S
(k» must -~ 'Must' has been pronounced only once and it is
pronounced acceptably as a weak form Imastl].

1) you pmust have been saen S52B 029 Page No. 5

Example -
Line No.9.
1) was - ‘Was' is pronounced 8 time and all the occurrences

Was' has been emphatically pronounced as /wo2/

of it are unacceptable.
-~ 1) It was called S2B 0OR? Fage No. 9 Line No. (2

Examples
2) The drug was found to be S2B 029 Page No. §
Line No. 1§
(m) have - ‘Have' has been pronounced 8 times and all the
used as a

times it is pronounced as /hxv| or [hav/ ,it is never

weak form {3yv] or IV/].
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In the following examplelhw/has been used.

Example - 1) We have to see S2B D29 FPage No.% Line No.15.
In the following example /hxv/ has been used.

Example -~ 1) The people who have been working S2B 029

Fage No. 6 Line Ne.Q

3.2.3 General Comments

I Articles

i) ‘a' - Most of times it is precnounced ase /2] ang sometimes
it is pronounced as/el.

ii) All the occurrences of 'an' have been pronounced as /Xn/.
iii} While pronouncing 'the‘,the speaker , most of the times
uses /33 or |3I] depending on the phonetic environment , still some
times, the speaker seems to be confused.

iv) ‘Some' has been pronounced as [$dm/ as well as Isaml .

The speaker in confused about the use of'some’.

II1) Conjunctions :
i) ‘And' has been pronounced as ,Xn| or [Xnd /.

1) '‘But'  most of the times has been pronounced as Ib3t] and

rarely [bat].
1i1) 'As' has been pronounced as [x2] .
iv) ‘That' has been pronounced as | 3xt/.

II1) Pronouns 3

i) ‘He' has been pronounced as a weak form /fZ/

i) ‘Him' has been pronounced as./hvﬂland not [1ml.



11i) ‘His' has been pronounced aslhlzl, a strong form.

iv) 'Us' has been pronounced as /AS] instead of /381.

1IV) Preposition :

1) ‘At' has been pronounced as /Xt/.

ii) ‘For' has been pronounced as /fo/ or !foOr/.

iii) 'Of' has been pronounced as /bfl or I0VI.

iv) ‘To' has been pronounced as Indian Variant ltv].

v) ‘From' has been pronounced as / froml.

V) Auxiliaries @

i) ‘Is' has been pronounced as /ILZl.

ii) ‘Are' has been pronounced as ('Yl or [dl].
111} ‘Do’ has been pronounced as ldvl instead of Iclal.
iv) ‘Had' has been pronounced as [ hxd/ .

v) ‘Has ' has been pronounced as Ihxz]

vi) 'Shall’ has been pronounced as | Sxtl.

vii) "Will' has been pronounced as /unf/and not/al/ orl‘L

viii) ' 'Would' has been pronounced as /urvd(.
ix) ‘Can' has been pronounced as [Kxn|.
X) ‘Must' has been pronounced as /mast| R.P.weak form.

Xi)d ‘Was' has been pronounced as /w02
%¥ii) ‘Have' has been pronounced as/h3Vor [hxv/.

So we can generally comment that in the text, the speaker

of the time uses strong forms.
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3.3.1 Table No. 2 Speaker - A.

Words Occurrence Frequency of Freguency of FPercentage of
Pronunciation Fronunciation Fronunciation
Near R.F. Which is Indian Near R.P.

I}y Articles

a) a 04 04 00 100%

b) an - - - -

c) the 03 03 00 100%

o) some 0é& 0& Q0 100%

I1) Conjunctions

a) and 15 01 14 6.66%
b) but oe 02 00 100%
c) as - - - -
d) than - - - -
&) that 12 a3 o9 a25%

I11) PFropnouns

a) he 13 04 o9 30.76%
b) his 03 00 03 o4
c) him ae ao o2 0%
d) her 10 n]u] 10 0%
e) them 01 00 01 0%
f) us - o~ - -

1V) Prepositions
a) at o1 a0 o1 04

b) for i0 00 10 a%



Frequency of Fercentage of

Words Occurrence Frequency of
Pronunciation Fronunciation Pronunciation
Near R.F. Which is Indian Near R.F.
c) of 05 01 04 20%
d) to 17 00 17 0%
e) from 01 ao 01 o%
V) Auxiliarieg
a) am 06 O a2 bb .66
b) is 24 04 20 16.99%
c) are 06 0o 06 0%
d) was 04 01 03 25Y%
e) do o2 (u]w] oz 0ov
f) does 01 01 (0] x] 100%
g) have 12 a7 0% 58.33%
h) has 07 04 03 57.14%
i} had 03 03 03 0%
3y shall - - - -
k) will 12 00 12 o0%
1) can 05 03 o2 &O0%
m) must g2 0o o2 004
") would o1 01 0oag 100%
3.3.2 #Analysis,; Observation and Comments
1) Articles
(a) a - Article 'A' - occurs 9 times in the text Speaker-A
pronounces it 4 times and all the occurrences are acceptable.
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All the times, the speaker pronounces it as R.P. weak form/d/,

Examples - 1) He has described a lot SIA 092 Fage No.2

Line No.(@ .
2) We have a function SIA 092 Fage No.§5
Line No.l4y.
(b the It occurs in the text ? times and Speaker— A pro-
nounces 1t 3 times and all the occuwrrences are acceptable. The
speaker pronounces it as /33 when there is a consonant after it
and speaker pronounces it as /'6llwhen there is a vowel after it
In the following examples | 33 has been pronounced.
Examples - 1) In the bathroom SIA 092 Fage No.5 Line No. &
2) The house SIA 092 Page No. 5 -Line No.ly

In the following example, Wﬁqhas been pronounced acceptably.

Example - 1) the evening SIA 092 Fage No.9 Lina Neo.5
(c) ‘some — It occurs in the text 11 times. The speaker uses

it & times and all the times the speaker pronounces it as KR.F.
weak form /S3m] which is an acceptable pronunciation.
Examples = 1) for gsome time SIA 092 Fage No. i Line No.*

2) Some before working SIA 098 Fage No.§ .

Line No.5”

II) Conjunctions

ta) and - The total occwrence of 'and' in the text i1s g7
speaker — A uses 1t 15 times and except one all the occurrences
of ‘and' are unacceptable. Only once ‘and' has been pronounced
as /PPl as in the following example

Example - 1) Very fine and he has SIA 092 Fage No. 4

Line No. 16 .
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But in the following examples "and' has been pronounced as /.

Example - 1) sembling fire wark and he has 8IA 092

Page No. 92 Line No.?d

2) Now much better and atill on some medicine

SIA 092 Page No.2 Line No.iS.

All the times 'and' has been pronounced as [xn],

(b)) but -~ The total occurvence of ‘but' in the text ia 5

and it is pronounced by speaker— A twice and both the times, it

is pronounced acceptably as weak formlbatl.

- 1) but this season SIA 092 Page No.3 Line Nod .

Examples
2) but I mean SIA 092 Page No.3 Line No.l4.
(c) that — 'That' occurs in the text 1B times and speaker- A
pronounces 1t 12 times and 1t is acceptably pronounced as a weak
usad

form [3°t] 3 times only and other times it is winecessarily
as Fﬁxustrong form, in the following examples, [37t| has been used .

Example - 1) I decided to tell you that SIA 092 Fage No.i

Line No.14.
2) a lot about that SIA 092 Fage No.2 Line No.l

And in the following examples /ﬁltl has been pronounced.

Example - 1) she is happy that she is retiring SIa 092

Page No. 6 Line No.3

‘2) he has described all about that SIA 092

Page No.41 Line No.1S -

II1) Pronouns

(a) he -~ "He' occurs in the text £2 times and speaker—- A

uses 1t 13 times, 4 times it is pronounced acceptably and other
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times it is pronounced unacceptably. The weak form of ‘he' is
| 1:} and strong form of "he' is /MJ. The strong form is usad
when it comes at the initial position of the sentence.Speaker — A
has never used the strong form [hit]| whenever ‘he' comes at the
initial position, the speaker - A pronounces 1t as/hzlorlh/ as
in the following examples which is unacceptable.
Examples - 1) He is ok, very fine GIA 098 Page No.1

Line No.lS -

2) He is ok, busy with his hotel work SIA 092
Page No. ¥ Line No. IS”

But in some of the following examples, weak furm/f:/ has been
acceptably used.
Examples ~ 1) and he has described SIA 092 Fage No./l
Line No.lS
2) So he had gone to see SIA 092 Page No.Q
Line No.% -
In some examples, the speaker uses /ht‘ which neither a weak
form, nor a strong form, / 51) is an Indian Variant.
Examples - 1) Now he is all right SIA 092 Faga No.§
Line No IS
2) If he says BIA D92 Page No. 8 Line No.l6
And in the following example the strong form /A;%} has been
unnecessarily used by the speaker.
Example - 1) s0 he was quite open SIA 092 Page No.L
Line No.G
So we can state that the speaker is quite confused about the
right and acceptable use of weak form, it may be possible that

the speaker uses}?:l not purposely but it comes in rapid speech
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(b)) his - "His' occurs in the text 5 times, and speaker - A

pronounces it 3 times and all the occurrences are unacceptable.

All the times "his' has been pronounced by the speaker as the
strong forml/hiz|/. The examples are given below.

Examples - 1) his hotel work 5IA 092 PagetWD.g Lirne No IS
2) his usual evening walks SIA D92 Fage No.3

Line No.l6
Here, the actual, acceptable use should be 12| instead ufthzL
() him - ‘Him' occurs 8 times in the text, speaker -~ A
pronounces 1t twice and both the occurrences are unacceptable

has been pronounced as htm| instead of R.F. weak form /Im,

‘Him'
Example - 1) Everything makes him very good SIA 092
Fage No.3 Line No.{§-
(d) her - ‘Her®' occurs in the text 17 times, and speaker - A

10 times, all the times 1t is pronounced unaccept-

i [hatl but

pronounces 1t
ably The weak form of her is /311 and strong form
the speaker uses IHDI as in the following example.
Example - 1) 1 had invited her SIA 098 PFage No. 9 Lirne No.l$
sometimes it is pronounced as Ih3rleven if there is a consaonant
after it. Following are examples given.
Examples - 1) her son is getting married SIA 092

Page No. § Line No.11.

2) Her M.B.E.8 SIA 92 Page No. # Line No.l3

(e) them — The total occurrence of the pronoun 'them!' is 3

and speaker -~ A uses i1t only once which 1is an unacceptable

pronunciation 1t is used as/Smﬂstreng form instead of lﬁzm/weak

form-
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Example -~ 1) quite open them SIA 092 Fage No.2 - Line No.p.

(f) Us - No occurrence

IV) Prepositions :
(a) at —- ‘At' occurs in the text § times and speaker —A uses
it only once and it is unacceptable pronunciation as /2t].

time still SIA (92 Fage No.jy Line No.I%.

Example - 1) at
(b) for - There are 16 occurrences of 'for' in the text and
speaker - A pronounces it 10 times and all the timea it 1is

unacceptably pronounced It is pronounced as 1for] in the examples

given below.

Examples - 1) I wasn't going for some time SIA og2 4 .

Page No. 1. Line No.1l.

2) for his health S5IA 092 Fage No. Line No.

In the above examples,[{El should be used.But the speaker uses

1f07] . S0 it seems that the speaker is unaware of phonetic environ—

ment. Sometimes, for is pronounced as N%I.

1) I was not well for some time SIA 092

Example -
Page No.{ Line No. ¥ .
Here /fbl should be pronounced. In the following examples, in-

stead of using /f?7] the speaker uses 1 forl.

Examples - 1) I go for it S8IA 092 Fage ND.8 Line No.l¥

2) You can speak for it SIA 092 Fage No.b6
Line No. 1.

(c) of — '0f' occurg 12 times in the text and 8 times it 1isa

used by the speaker. Only once it is acceptably pronounced aslavﬁ

Example - 1) This season of monsoon SIA 092 Fage No.3

Line No.7

other & times it is pronounced as bV or/DCL These pronunciations
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are unacceptable as /DF/ is a strong form andM%is neither a
strong form, nor a weak form, it is an Indian Variant.
Examples - 1) On the 4 th of July SIA 092 Fage No.2.

Line No. 2. /pf[ is pronounced

2) One of these days SIA 092 Page No.7}

Line No. 4 Iov] is pronounced.
(d) to - 'To' occurs 27 times and 17 occurrences are pro-
nounced by speaker - A and all these occurrences are always
pronounced as ] tv]. The weak form [£3] or the strong form /fU£/

has never been used by the speaker.

Examples ~ 1) to take her to Panhala SIA 092 Page No.3
Line No.(
Whenever 'to' comes as an infinitive it ig pronounced as/{ﬁl-

Examples - 1) I have decided to ring you SIA 092 Page No.i.
Line No.§g.
2) I don't like to keep servantg S1a 092
Fage No. 9 Line No.j3-
(e} from -~ There are 2 occurrence of pronoun ‘from'., 1 is
pronounced by speaker — A unacceptably. It is pronounced asfﬁom/
and not )F*ﬁm]R.P. weak form

Example - 1) from Bombay SIA 092 Page No.5 Line No.10 .

V) Auxiliaries :

(a) am - The total occwrence of 'am' in the text is 10 and
speaker - A uses it &6 times In the following example Iéﬂw‘has
been used instead of )ﬂﬂ as weak form }Wﬂ is used after ' I'
Examples - 1) Now I am much better SIA 092 Page No.4

Line No. 4%.
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2) I am planning S5IA 092 Fage No.Q Line No.l?.

And 1n the following example /®M] has been used ,

Examples ~ 1) Yes I am waiting SIA 092 Fage No.b Line No.10

2) I am thinking of SIA 092 Page No.l Line No.3

Only once !/M| has been used as in the following example.

Example - 1) I'm very lazy that way S5IA 092 Page hNo.J
Line No.%1 -
(b) ts - In the text,is occurs 44 times and the speaker-A

pronounces it 24 times, out of which 20 occurrences ara

unacceptable and 4 occurrences are acceptable .

A lot of times ‘is' is pronounced as | T2/ by the speaker in

following examples.

Examples - 1) Here is Nalini SIA 092 Fage No.l Line No.1

2)8He is ok SIA C92 Fage No.5 Line No.l?7
3) She is at home SIA 092 Page No.j Line No.3 .
In following examples 'is' is pronounced acceptably as /sl

Examples - 1) It's quite interesting SIA 092 Page No.4

Line No.l0 -

2) That's very true 5IA 092 Fage No.5 Line No.3.

Except the contracted forms, the strong form is used every-
where

(c) are -~ There are 15 occurrences of ‘are', & are pro-
nounced by speaker -~ A and all the occurrences are pronounced in

an unacceptable way In the following examples /de) is pronounced

instead of

Example - 1) How are you now? SIA 092 Page No.2 Line No J
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2) We are feeling tired SIA 092 Fage No.G
Line No.410:

So we can conclude that the speaker has a tendency to use
1d:¥] every where .
(d) was — ‘Was' occurs 11 times in the text out of which, 4
times it is pronounced by speaker — A. 3 times, it is pronounced
as a strong form which is unacceptable
Examples - 1) I was not going BIA ()92 Page No. L Line No.14 .

2) He was quite open EIA 092 Page No.L Line No.p .
Only once it is acceptably pronounced as fwTN R.F.weak form .
Example ~ 1) I was not well SIA 092 Page No.l Line No.7.
But, generally we can state that, the speaker tends to use}woll-
{(e) dao - The auxiliary 'do' occurs in the text 4 times and
it is only once pronounced by speaker— A and both the occur-
rences are unacceptable. The strong form of ‘do'isldu!land the
weak form is lds),but the speaker tends to use ldvu| ,Indian Variant.
Examples - 1) do you have holidays ? SIA 092 Page No.3 -

Line No.lb.

2) to do something SIA 092 Page No.5 Line No.4
(f) does -~ 0Only once ‘does' is pronounced, and it is pro-
nounced as |dazl.
(g) have - The auxiliary ‘have' occurs in the text 16 times
and it is pronounced by speaker — A 12 times. The weak form of
have is IQVIand Ivi. . Jvlis used after ‘I, we, you they,, and
elsewhere /?Vf is used. Various times, the speaker has used
even after ‘I, we, YOu, they’
Example - 1) you have not met SIA 092 FPage No.]l Line No.%.

In the following examples /h®V] has been used
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Examples ~ 1) And may be will have to plan 81A 092
Page No.3 Line No.b .
2) So we have a function 5IA 092 Page No.b
Line No.ié-
But 1in the following examples /hav] has been used:’
Examples ~ 1) Do you have holidays SIA 092 Fage No.3 .
Line No.14. 7
2) I will have to write SIA 092 Page No.5
Line No.9
So all the occurvrences of ‘have' are unacceptable. The apeaker
uses [hav| most of the times, and/hiv|sometimes.
(hy has - There are 10 occurrences of ‘has' in the text, it
is pronounced by speaker — A, 7 times, and all the occurrences
are unacceptable. Has is pronounced aslh!ﬂ or 'MV].In the follow-
ing example/hﬁl}is used
Example - 1) He has deciBed SIA 092 Page No. 2 Line No. 8
In the following examples,]h?zJ is used.
Examples - 1) he has decided SIA 092 Fage No.2 Line No.4
2) she has come down 214 092 fage No.Z Line Noi7.
(i) had - There are 3 occurrences of ‘had' in the text and
speaker ~ A uses all the occurrencas. ‘Had' is always pronounced

as / hidJ-

xampl - 1) #he had gone to see SIA 092 Page No.2 Line No.3
(}) will -~ Therée are 19 occurrences of "will' and 12 occur—

rences are pronounced by spesker - A, All the occurrences are

pronounced aEIWIVand never/” Drl7”.the R.F. weak form§,
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Examples - 1) I thought may be she will they will not
enjoy it SIA 092 Fage No.3 Line No.5 .
2) 1 wil) be visiting SIA 092 Page No.3 Line No.10.
(k) £€an -~ There are B occurrences of ‘can' in the text,$ are
pronounced by speaker - A, 3 occurrences are pronounced as
acceptable R.F. weak form,!K%hI and remaining two are pronounced
as |Kxn|strong form. In the following example /Kin|has been used
Example - 1) I gcan even meet you SIA 092 Fage No. ] .
Line No. 8.
Aand in the following example/Kﬁﬁihas been used.
Example - 1) 1 can make my way SIA 092 Page No.5 Line No.10 .
So the speaker is guite confused about the use of ‘can'.
(1) eaust — There are 3 occurrences of ‘must' and 2 occurrences
are pronounced by speaker — A and both the occurrences are pro-
nounced as strong forﬂ\IMA§ﬂ14nnecessarily.
Examples - 1) I think I must start §SIA 092 Fage No.g.
Line No.1
2) 1 feel I pust do one way SIA 092 Page No. 9
Line No.J.

(m) would - 'Would' occurs only once and it is pronounced by

speaker — A, acceptably. It is pronounced as /d[.

Example ~ 1) I would like to meet SIA 092 Page No. 7
Line No.9

3.3.3 Beneral Comments

I) Articles :
ta) Article a has been pronounced as /9] R.F. weak form.

(b) The The has been pronounced acceptably as /3?2 or [ 31
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depending on the phonetic environment

{c) Some - has been pronounced acceptably as R.F. weak form (Sam].

I1) Conjunctions :

« 3
(a) And - And  has been pronounced as JXn| or/xnd|.
(b) But.‘But’ has been pronounced as R.P. weak form (bBtL
(c) That. Most of the times ‘that' has been pronounced as ngil

cthe strong form unnecessarily.

1IIY Pronouns s

(a) He-Most of times 'he' has been pronounced as Ihz}.

Sometime the speaker uses weak form If:l even if the phonetic

environment demands the strong form lhf:l.

(b) His - ‘His' has been pronounced as a strong form |hI2|

without necessity.

(c) Him — 'Him'has been pronounced as strong form lhemlin  an

unacceptable way.

(d) Her - ‘Her' has been pronounced as Ih’lnot the weak form
[3tland also the strong form | h. ]

(e) Them - 'Them' has been pronounced in an unacceptable way.

It 1is umecessarily used as strong form [3em],

IV} Prepositions @
(a) At —- 'At' is pronounced as Ilf] in an unacceptable way.
(b)) For— Most of the times 'for' is pronounced as lﬁﬂar IfDYL

(c) Of - Most of the times ‘of' is pronounced as [0F] or 10V/,
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(d) To - ‘To' is pronounced aa/tU’ not the weak formft’fnor the

strong form.|tu:l.

From- ‘From' has been pronounced unnecessarily as strong

(e)
form IfVDMI'
V) Auxiliaries :

(a) Am - Generally ‘am' is pronounced as (xm/, after the pro-

noun ‘I' ‘am' is not pronounced by the speaker as /m| but as[im[,
{(b) Is -~ Generally, the speaker pronounced 'is' as a strong

form L513unnecessarily

(c) Was - ‘Was' pronounced by the speaker as |wD2| the strong
form unnecessarily.

(d} Does - ‘'does' is pronounced by the speaker as JdAaz]  the
strong form unnecessarily.

(2) Have - 'Have' is pronounced by the speaker as lhBV’or [hav i,

(f) Has - 'Has' is pronounced by the speaker aslhIche strong

form or [hDZIunnecessarily.

(g) Had -'Had' is pronounced by the speaker as Ihxd/the strong

form unnecessarily.

(h) Will - "Will' is pronounced by the speaker aslunVneverlaw

or (1.

(i) Can - ‘Can’' is pronounced by the speaker as!Lﬁﬂ)as well aslkbd,

’
So it seems that the speaker is confused about the use cf‘éan .

(i) Must - ‘Must' is pronounced as | mMASH strong form

(k) Would - ‘Would' is pronounced as K.P. Weak form Jd|.
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8IA 092

3.3. Telephone Conversation— Speaker A and B.
3.3.4 Table No.1 Speaker - B
Words Occurrence Frequency of Frequency of FPercentage of
Pronunciation Fronunciation Fronunciation
Near R.P. which is Indian Near R.FP.
1) Articles
a) a 005 005 DOD 100%
b} an - - - -
c} the 006 005 001 83.33%
d}) some 005 00s 000 100%
11} Conjunctions
a) and 012 o1 o11 8.33%
b) but 003 003 000 100%
c) as 0ot 000 001 0%
d} than aoe 000 ooe 0%
e) that 006 000 004 0%
III) Pronouns
a}) he | a9 01 08 11.31%
by his oa 01 o1 0%
c) him 06 0o 06 0.%
d) her 07 00 07 G%
e) them o2 01 01 50%
d) us 01 01 00 100%
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Words Occurrence Frequency of Frequency of Fercentage of

Pronunciation Fronunciation Fronunciation

Near R.P. which is Indian Near R.F.
IV) Prepositions
a) at 04 00 04 00%
by for a6 01 05 16.66%
) of 07 0o 07 0%
d) to 10 00 10 00%
) from 01 01 00 100%
Vy Auxiliarieg
a) am 04 03 01 75%
by is 20 o2 18 10%
c) are 09 00 09 00%
d) was o7 0o a7 00%
e} do oe 0o ae Q0%
f) does - - - -
g}’ have 04 01 03 3%
h} has 03 i o2 33.33%4
1) had - - - -
j) shall - - - -
k) will 06 00 D6 00%
1) can 03 01 oe 33.33%
m} must o1 01 00 100%
n) would - - - -
o} be - - - -
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3.3.5 Analysis, Observation and Comments

I) Articles

IS

(a) a -The total occurvrence of the article 'a' in the text is

aof 9 times and speaker — B has pronounced it 5 times and all the

five times it is pronounced acceptably as the R.F. weak form (30,

following are some examples.

1) After a long time SIA 092 Page No.1 Line No.2

Examples -
2) A rainy season SIA 092 Fage No. 2 Line No.§.
(b} an - No occurrence

(c) the Article ‘the' occurved in the text ? ¢times and

speaker -B uses it six times and five occurrences are acceptable.

! 2/ has been used by the speaker - E
Examples - 1) In the lab SIA 092 Page No. 4 Line No.34.

2) All the time SIA 092 Fage No. 7 Line No. 1§ .,

But in the following example, the speaker uses |39/ which is not

acceptable .

Example - 1) The evenings SIA 092 Fage No. 4. Line No.1i

In above example, actually /31I should pe pronounced. So it seems

from the available data, that the speaker has a tendency to use

[%] asimost all the time.
(d) s0me - ‘Some' occurs in the total text 11 times and

the speaker - A uses it 3 times and all the occurrences are
acceptable. The speaker uses]S’mlR.P. weak form all the time .
Examples - 1) They are watching some programme SIA 092

Page No.Q Line No.3.

2) Having some fresh air SIA 092 Page No. &

Line No.13.



II) Conjunctions :
(a) and - "And' occurs in the text 27 times and speaker -R
uses it 11 times and except one all the occurrences are

unacceptable. And' has been pronounced as /Xn] or [ind].

In the following example Ixn] has been pronounced.

Example - 1) Cough and all SIA 092 Fage No. 2 Line No.8 .

Following are some examples where lxnd| has been pronounced.

Examples - 1) And are vyou going to Bombay? SIA 092
Fage No.g Line No.9
2) And ‘how is your sister at Bombay ? ¥SIA 092
Page No. § Line No. |§ .
We can observe that whenever ‘and' comes at the initial

position of interrogative sentences, it is used as a strong form.

(b) but - The total occurrence of 'but’ in the text is five
times and gspeaker - B pronounces 1t 3 times and all the
occurrences cf it are acceptable. ‘But' is pronounced as a R.P.

weak form lb2tl.
Examples ~ 1) but I am not so SIA D92 Page No. L4 Line No. 8.

2) He is young but how I think 8IA 092 FPaga No. 6

Line No.17.
(c) as - The occurrence of ‘as' in the total text is once
and speaker — B pronounces it in unacceptable way. It is prono-

unced as X2/ which is a strong form, unnecessarily.

Example - 1) As I think SIA 092 Fage No. Ling No.
(d) than - ‘Than' has been pronounced by the speaker twice

and both the occurvences are unacceptable. The speaker uses it

as a strong form |3¥Xnleven if there is no need of a strong form
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Example - 1) more than thirty years SIA 092 Page No.b

Line No.%
(¢) that ~ The total occuwrrence of 'that'is i8,and speaker-B
pronounces it & times and all the occurrences are unacceptable.
It is used as a strong form /Z%and never weak form { ¥>t].

Example - 1) Your know that last year SIA 092 Page No./

Line No.13 .

I11) Pronouns :

(a) he - The occurrence of pronoun ‘he' in the text is 22
times and speaker - B uses it g times and 8 times it

pronounced in an unacceptable way and only once it is pronounced

as R.P.weak form |1%.0Other times he' is pronounced as | hT/
neither weak form, (/'] , nor strong formlhi!/

Examples — 1) how is he SIA 092 Page No. 1. Line No.1S

Here only l‘:{ has been pronounced. In the following examples)hr[

has been pronounced by the speaker.
Examples - 1) He is ok SIA 092 Fage No. 2L Line No. 40

2) He didn't want SIA 092 Page No.”? Line No.{3.
(b) his - The total occurvence of ‘his' in the text is S and
speaker — B uses it twice and once it is used in an unacceptable
way by the speaker. As the strong form | ht2| instead of weak form.
Example -~ 1) His son is now SIA 092 Page No.©® Line Na.lsi
Here ‘His' comes at the initial position and it becomes atrong.
But in the other example, the speaker should use I 22| but in-
stead of using [T2] the speaker uses [(hIz].

Example - 1) hig mother is SIA 092 Page No.7 Line No.1

77



So we can say that it 1s a tendency of the speaker to use strong

form every where, without locating the phonetic or semantic

envivronment.

{(c) him - The total occcurrence of 'him' in the text is a8,

and speaker - B uses 1t B times and all the times i1t is prono

unced in an unacceptable way. The weak form (Im] has never been
used by the speaker. but the strong form(hLml.

1) Tell him my hearty congratulations SIA 092

Examples -
Page No. 5§ Line No. 15"
2) proposals for him SIA 092 Page No.§
Line No. 16-
(d}) her - The praonoun ‘her' occurs in the text 17 times and

7 times it has been pronounced by the speaker and all the occur-

rences are unacceptable. The weak form of her is /a=l but the

speaker uses [ha| which is neither a weak form nor a strong

form. /h3l is an Indian Variant.

1) to visit her SIA 092 Page No. % Line No.9.

Examples -
2) her programme SIA 092 Fage No. &6 Line No.!8.
(e) them - The weak form of them is W5NnLE times it 1ig

pronounced as IZQMIwhich is a strong form for no reason

Examples - 1) All of them are SIA 092 Page No. 4 Line NO.H

2) All of them always watch SIA& 092 Page NQ.Q
Line No.% .
(fY us - The total occurrence of the pronoun 'us' is only
once and it is acceptably pronounced as}?SI R.F. weak form
Example - 1) comes and visits us SIA 092 Fage No./ Line No.7
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IV} Prepositions :
{a) at - The preposition 'at’' occurs 5 times and speaker - B
has used 1t 4 times and all the occurrences of it are

uracceptable. ‘At in always pronounced as/lH which i1s a strong

form and never }aH weak form. The following are some examples

- 1) Not keesping very well at time 51A (092

Examples
Fage No. 2 Line No. 8.
2) She is at home SIA 092 Fage No.4 Line No.3.
thy for - The total occuwrrences of 'for' in the text 1s 16
and speaker — B pronounces 1t 6 times. 3 occurrence of 1t are

unacceptable and only once it is accurately pronounced. "Fov! is
pronounced as oYl in the following example.

Example - 1) You didn't ring up for a long time SIA O92

Page No. 4 Line No.6.
Here, 'for' should be pronounced as | F¥l.
for 1s also pronounced as [fpr] in the following example .
Example ~ 1) For six months SIA 092 Fage No.$8 Line No.{
Here the pronuncration should be [1£2] <And, in the following

e s
examplie for is used as R.F. weak form [£3].

Example -~ 1) good for health SIA 092 Fage No. 4 Line No.L&.

(c) of - The total occurrence of ‘of' is the text is 12, and

1t 1s pronounced by speaker - B 7 times and all the occurrences

are unacceptable, of is pronounced as |DV/ ar [DF/.
[DC! is pronounced as in the following examples.
Examples ~ 1) Ist of September SIA 092 Fage No./ Line No. 19 .

2) all of them SIA 092 Fage No. 4 Line No. §
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[oul is pronounced in the following example.
Examples - 1) all of them always watch 5IA 092 Page No. 4
Line No. 4.
2) tired gf all these BIA 092 Page No. (
Line No.9.
It is a tendency of the speaker to use [of  or lov].
{d)» to — The total occurrence of 'to’ in the text ig &7
and it has been pronounced by speaker— B 10 times and all the
ococurrences are unacceptable. To! is never pronounced as
'tal the R.F. weak form, It is always pronounced as [tvl s the
Indian variant.
Examples -~ 1) You are not going to walk also SIA a92
Fage No. A- Line No.l0O
2) He didn't want to take wmnecessarily SIA 0982
FPage No. 2 Line NoJ3
() Tfrom -~ The total occurrence of ‘from' in the text is
twice and it is pronounced by speaker —~ B once and here it 1is

pronounced as R.P.weak form [fvam).

Example - 1) Away from the house SIA (092 Fage No.?¥
Line No. 2

V) Auxiliaries
(a) am - The total occuwrrence of ‘am' is the text is 10
and 1t is pronounced by the speaker —B 4 times and 2 occurrences

are acceptable and 2 are unacceptable. The weak form }?rn/ isg

pronounced twice in following examples
Examples - 1) I am ok SIA 092 Page No. 2. Line No.3

2) I'm glad SIA 92 Fage No.§5 Line No. 15.
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Eut sti1ll the weak form should be pronounced as/m| in above

examples.

In the following example [xm]| is pronounced and it is suitable

to the contaxt .

Example ~ 1) 8o I am SIA 092 Fage No.3 Line No.13.
(b) is ~ The total occurvence in the text of 'is' is 44 and

20 times it 1s pronounced by speaker — B and only twice 1t is

acceptably pronounced as [S] .
Example - 1) It'g so nice SIA 092 Fage No.& Line No.l4.

It is pronounced in an unacceptable way as [12].

Examples - 1) how is he SIA 092 Page No.l Line No.i$ -

2) she 18 ok 8SIA 092 Fage No. Line No.
(c) are - The total occurrences of ‘are' in the text is of
1S5 ¢times and 2 times it is pronounced by speaker - B. Every

time speaker uses /d'¥.
Examples ~ 1) How are you keeping now 7 SIA 092

Fage No. 1 Line No.12.

2) They are all watching SIA 092 Page No.lY.

Line No.3
In the example No. 1 (3] should be pronounced instead of
lA!¥] and in the example No 2 |37/ should be pronounced instead of
I, But we can observe that it is the tendency of the speaker to
use [4'¥] without taking in to account the phonetic environment.
(d) was -~ Was occurs in the total text 11 times and it has
been pronounced by the speaker — B 7 times and all the occurrenc-

es of 1t are unacceptable. Was i1is always pronounced as Jwp2)sand

never 1t's weak form |wdll.
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1) My husband also was SIA 092 Fage No.2

Examples -

Line No. 9

2) I also was wondeving SIA 092 Fage No. 2

Line No.10.
{e) do -~ The total occwrence of ‘'do’' igs & and it is pro—
nounced twice by speaker — B and both the occurrences are unac-
ceptable. ‘Do' has been pronounced as |dUl neither|ds]nordu:|
Example - 1) She has to do SIA 092 FPage No.l Line No.|({
(f) have — The total occurrence of "have' in the text is 16

and except one

and it has been pronounced by speaker —-B 4 times,

otheyr occurrences are unacceptable.Have 1is pronounced as

fBVl which i1s a weak form in the following example.

Example - 1) I have tried SIA 092 Page No.4 Line No.l.

But according to rules given by J.D.0O' Commer, here also

"have' should be pronounced as [vl. In the following examples

‘have' is pronounced as |lhxv|.

Examples - 1) We have not travelled SIA 0982 Page No.3
Line No.19.

2) 1 have received SlA 092 Fage No.Z Line No.l?2

{(g) has - The total occurrence of ‘has' is 10 and thrice it

is pronounced by speaker -B., All the occurrences are unacceptable

In the following examples ‘has' has been pronounced as/hxllstrong

form without any necessity.

Examples - 1) She has passed out SIA 092 Fage No.7/

Line No. i3
2) 8he has to do SIA 092 Fage No.7 Line No.ly

Once it is pronounced as [h32| which is not a weak form and not

strong form also.



Example - 1) She has never come 5IA (092 Fage No.
L.ine No.
(h} shall - No occuwrrence.
(i) had -~ No occuwrrence.
(3 will ~‘N111’ occurs 19 times and & occuwrrences are by
speaker —~ B and all the occurrences are unacceptable./‘dlw has

been used by the speaker instead of/a') orlt].

Examples -~ 1) She will, they will SIA 092 Fage No. 3

Line No.2
2) That will be a pleasant travel 8IA 092

Page No. 3 Line No.18 -
(k) can — The total occurrence of ‘can' 1in the text 8 and it
is pronounced by speaker ~-A, 3 times in an unacceptable way as
the strong form and only once [K2n] the R.F.weak form has been
used by the speaker. In the following euample/KBnlhas been used.
Example - 1) And I can apply SI1A 092 Fage No. 3Line No.lS™ |
And in the following example [Kxn] has been used.
Example - 1) We gan go together,514 0792 Fage No.3 Line No.l3.

(1) must — The total occuwrrence of ‘must' is 3 and speaker- B

uses it once acceptably as [mast] .

Example - 1) She must be there SIA 0982 Fage No. 6 Line No.g:

(m) would — No occurvrence.

3.3.6 General Comments

I) Articles :
13 'A' has been acceptably pronounced as [3/.

11) The speaker has used [%3] and /3T| both but the speaker 1is
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unaware of the phonetic environment.

Some has been pronounced as Baﬂﬁ R.F. weak form.

i11)

11) Conjunctions :

1) And has been pronounced as lxnl ana [xndl.

11> But has been pronounced rightly as )bbtl-

111} Speaker — B pronouncesrggfas a strong form [%2/ unmeces—

sarily .

iv}y Than unacceptably pronounced as llxnlby the speaker.

v That has been strongly pronounced as F1X+/never the

weak form.

III) Pronouns

1) He is a propoun which is pronounced as ’hIf,Indian
variant

11} His has been pronounced as I hz2] atrong foram.

i11) Him has been pronounced as | him| strong form,

iv) Her has been pronounced as [hd] Indian Variant.

v) Them has been pronounced as | ¥®mland not weak form[ 3em].

vi}) Us has been pronounced as R.FP. weak form /25l

IV) Prepositions :

1) At pronounced as }1{]. always

i1) For has been pronounced as!ﬂjor }pDT/ without locating
the phonetic environment.

11i) Of has been pronounced as bVl or le]and never pV/.

iv}

To has been pronounced as }tvfneither the weak form, nor
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the strong form.

vl From The sgspeaker pronounces it as prﬂﬂ R.F. weak form

V) Auxiliarieg :

i) Am - pronounced as /XM as well as Jaml|.

11) Is -most of the times, is pronounced as [I21.

iii) Are most of the times, is pronounced asldilorldmhithout
locating the phonetic environment -

iv) HWas - The speaker pronounces'was ’as [wo2l.

v) Do . pronounced as hTUJnot kh#lthe strong form, and not LJAL
vi) Have.pronounced as bW orlhvl and never R.F. weak furm.’DV/.
vii) Has . pronounced aslbll]and ”ﬂz}never R.FP.weak form.l3lﬁhll‘
viii) Will-pronounced as hﬂIUneverbI} or f1.

ix) Can . pronounced aslkxnl

%) Must pronounced asfnﬂBﬂR.P. weak form.
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3.4.1 Table No.tl Lecture

Words Decurrance  Frequency of Frequency of Percentaga of
Promunciation Promunciation Fronunciation
Near R.P. Which is Indian Near R.F.

I Articles

ary a 063 25 39 39.68%

b)) an 004 00 04 ax

c) the 128 47 81 3&.7%

d) some 0g 01 O1 50%

11’ Conjunctions

a) and 37 0o 37 00 %
b) as 09 00 0% o %
c) but o8 06 oe 75 %
d) that 46 oe L4 4 .34
2) than 01 00 01 o %

I11) Pronouns

a) he 13 03 10 23.07%
b) bhis 0s o0 05 00%
c) him o2 00 o2 o%
d) her - - - -
e) them o2 00 a2 O%
f) us - - - -

IV) Prepositions
a) at 14 00 14 0 %

by for 13 00 13 0 %
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Words Occurrence Frequency of Frequency of Percentage of

Pronunciation Pronunciation Fronunciation

Near R.P. Which is Indian Near R.F.
c) of 80 01 79 1.85%
d) to 54 00 54 O %
e) from 10 00 10 0 %
V) Auxiliaries
al) am 04 0o 04 0 %
b) is B6 23 &3 Bh.74%
c}) are 34 00 34 0 %
d) was 04 0o 04 0 %
e) do i2 0o 12 0 %
f) does 0s 00 a5 Q%
g) has 07 01 06 14.28%
h} had oe 01 01 50.00%
i) have 30 19 11 &6 .33%
jy shall - - - -
k) will 20 oo 20 0 %
1) would - - - -
m) can 06 - 06 0 %
n) must 09 01 08 11.11%
o) be 10 10 - 100%

3.4.2 0Observations, Analysis and Comments

I) Articles @

(a) a ~— Article "a' has been pronounced &3 times and i1t has
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been acceptably pronounced BS times and 39 times it is

pronounced in an unacceptable way.

In the following examples ‘a' has been pronounced as /3.
Examples - 1) English as a second language 82A 034

Page No.l. Line No. 10.
2) not a question S2A 034 Page No.4 Line No /4.
In the following examples e has been pronounced.
Examples = 1) Soul of a human ianguage S2A 034 FPage No.1.
Line No.3.

2) a variety of situations S2A 034 Page No.8.

Line No.3%,
(b) an - 'An' occurs 4 times, and all the times it is prono
unced as /xni.
Examples - 1) an example of S2A 084 Fage No. 1. Line No.3.

2) an exhaustive comprehensive description
82A 034 Fage No. Z. Line Na.17.
3) an exercise S2A 034 Page No. 8 Line No.Q .
So it is a tendency of speaker to use /Xn].
(c) the - The article 'the' occurs in the text 1286 times
and 47 times it is pronounced accurately and, it 13 pronounced
in an unacceptable way 81 times.
Article 'the has been pronounced as |32/ whenever there is a
consonant after it.
xamples - 1) the points S2A 034 Page No. 1- Line No.2 .
2) The meaningful human activity 82A 034
Page No.%, Line No.13.

Article /3I| has been pronounced when there is a vowel after it
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Examples - 1) with the impression S2A 034 Page No.%:

Line No. +.
£) the excellent reference books SBA 034
Page No. 2 Line No.b6 .
In some of the examples,/317 has been used even if there is
consonant after it. It is unacceptable pronunciation
Examples - 1) with the power S2A 034 Page No.1l.Line No.4.
2) The function of grammar S2A 034 Fage No.
Line No.
So many examples can be given. It seems that when the speaker
wants to give stress on the next syllable, at that time ‘the' ig
pronounced as | 3T/,

(d) wsome — ‘"Some' occurs in the text twice, and once it is

pronounced as R.P. weak form/swﬂ as in the following example.

Example - 1) some of the points S2A 034 Fage No.1.
L.ine No.l.

Once it is pronounced as [ SAm|  the strong form.

1D Conjunctions t

(a) and - ‘And' occurs in the text 37 times and all the
occurrences are unacceptable. And is always pronounced as
or [xn| oy lxnd/

*And ! is pronounced aslxhl in the following examples.
Examples - 1) And then move on S2A 034 Fage No.4{.Line No.Z.
2) And these two types ©2A 034 Page No. 2.

Line No. 5.

In the following examples /Xnd/ has been pronounced .
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Examples - 1) And we are going to do SPA 034 Page No.2 .

Line No.11l.

2) we are around and the people 8204 034

Page No. § Line No.9

Except the above mentioned two examples, it is the tendency of

the speaker to use /Xn] which is neither a strong form, or a weak
form. [xXn]| is Indian variant replaced for /2n| o¥inl.

(b)) as - The speaker uses ‘as' T times and all the times
‘as'is pronounced in an unacceptable way.It is pronounced as /x2/.

Examples - 1) Learning Ernjlish as a second language S2A 034

Fage No. 1. Line No.10.

2) as a teacher S2A 034 Page No. §  Line No.9.

(c) but -~ The speaker uses ‘but' B8 times in the text and &

occurrences are R.P. weak form lbhot] and twice, the speaker uses

strong form. In the following examples, the speaker uses Ibat]

acceptable R.P. weak form.
Examples - 1) which is not English but chalata hai 5RA 034
Fage No. 4. Line No.16-
2) but we have better dictionaries 52A 034

Fage No. §. Line No.%.

In the following examples /bAt/ the strong form has been used by

the speaker urnecessarily:
Examples - 1) But as & teacher we are around 824 034
Page No. 5. Line No.9 .
2) grammatically correct RQhut the choice will be

S2A 034 Page No.!2 Line No.§-

(d) that ~ There are 46 occurvences of conjunction ‘that’,
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out of which 44 ococuwrrences are pronounced in  an unacceptable
way . The speaker pronounces most of the times /3xt] which is a
strong form. Perhaps, as it is a lecture, the speaker gives
stress on each and every word. In the following examples,
| 3xtl has been used.
Examples -~ 1) My perception of teaching in India that

grammar S2A 034 fage No. 1 Line No.j5.

£2) You remember the point that I made S2A 034

Page No. 2 Line No.l?.
And in the following examplei%)t]has been used by the speaker.
Example - 1) Some of the points that 1 made yesterday

S2A 034 Fage No.i. Line No. 2.
It seems that the speaker has a tendency to use the strong form
without any reason.
(e) than - “"Than' pronounced only once in the text and it is
pronounced by the speaker in an unacceptable way as /3xn/a
strong form.
Example - 1) On the thing achieved rather than on the agent

S2A 034 Page No. 1y. Line No.16.

II1I) Pronouns :

(a) he -~ ‘He' is pronounced 13 times and 10 times it ig
pronounced in an unacceptable way and only 3 times it is accep-

tably pronounced.

So many times ‘he' is pronouncead as/ ht|.The examples are given

Examples - 1) He selected S2A 034 Page No.2 Line No.3.

2) has he come this morning ? S2A 034 Page No.%5"

Line No.10 -
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3) He gets out of bed S2A 034 Page No.S

Line No.jy.
In above exampleslkd is used which is neither a strong form,
nor a weak form. In sentences No. 1| and 3 ‘“he' should be pro-~
nounced as a strong form/;ﬁf, because it comes at the initial
position of the sentence. But in the following example 'he' has
been accurately used as a strong form.
Example - 1) What does he do every morning? S2A 034

Page No. 8. line No.Z.
Here the focus is Ramu's rocutine of every mornfng. So  ‘he' is
acceptably used as a strong form.But in the following example,
the speaker used the strong form with out any reason.
Example - 1) How does he do that 82A 034 Fage No.1l -

Line No. 3.
We can state that, most of ¢the times, the Qpeaker uses
lhii] without any reason,
(b)) his - There are 8§ occurrences of the proﬁoun ‘his!
and all the occurrences are pronounced in an unacceptable way.
‘Hisg' is pronounced as /hrd,so the strong form instead of
|IY the weak form.
Examples - 1) To play with hias language S24 034 Page No.§

Line No.®.

) the title of his series S2A 034 Page No.6.

Line No.18.
The speaker has never used the weak form l12l .
() him - ‘“Him' occurs in the text twice and both the times

it is pronounced by the speaker in an unacceptable way as /hlﬁﬁ
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the strong form, and never /Iml the weak form .
Examples - 1) exposing him to S2A 034 Page No.5 Line No.(2

2) It's very important for him to krnow S24a 034
Page No.|p Line No.§g 2
(d) her - No oecurrence
(e} them - There are two occurrences of "them' in the text
and both the occurrences are, in an unacceptable way pronounced
by the speaker as strong form/%em]) and never /¥?m|weak form .

Examples - 1) to encourage them S2A 034 Page No.5

Line No.s—'

2) and then put them together 82A 034 Page No.
Line No. 16-

(f) us — No occurrence

IV) Prepositions :
(a) at - There are 14 o¢occurrences of prepositions ‘at' in the

text and all the occurrences are pronounced in an unacceptable

way as a strong form/lt’and never the weak form /3tl.

xamples - 1) right at the beginning S2A 034 Fage No.5

Line No. 5~
2) at a given point S2A 034 Page No &L Line No./7.

So it is a tendency of the speaker to use /Xtl.

(b) for -~ There are 13 occuwrrences of preposition “for' in

the text and all the occurrences are unacceptable.

In the following examples 'for' has been pronounced as (forl.

xamples - 1) For the time being S2A 034 Page No.5 .

Line No. I§™
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2) big demand for grammar. S2A 034 Fage No. 6
Line No.49.

3) And for example S2A 034 Fage No.{Z Line No.jl
Except the example No. 3 the speaker uses (forleven if there a
consonant after it. In example 1 and 8 the preposition for
should be pronounced as/Fa[and in example No. 3 the preposition
‘for' should be pronounced aslﬁiBut it is a tendency of the
speaker to use [for/the straong form, every where.
(c) of - The preposition ‘of' has been pronounced 80 times

and except 1 all the times 'of' is pronounced unacceptably. only

in the following example, ‘'of' has been pronounced as /ovl.
Example - 1) the facts of grammar S2A 034 Paga No. /
Line No.li .

Other times, 'of' has been pronounced as Iof] or Iovl. .Following
are soms examples where /bﬁ[ has bheen pronounced.
xamp les - 1) Brammar is the heart and the soul of & human
language. S2A 034 Page No. 4. Line No.3.

2) Use of English S2A 034 Page No.1 Line No.13 .

And in the following examples /DV/ has been pronounced.
Examples - 1) in the form of a dictionary. 824 034

Page No.2 Line No.10 -
2) the title of his series S2A 034 Page No.{p
Line No. IS .
So most of the times, the speaker usesa fDF,the atrong form and

some times, the speaker uses |bV] an Indian variant which is

neither the weak form nor the strong form.
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(d» to - There are 54 occurrences of preposition ‘to' and
all the occurvrences are pronounced in an unacceptable way by the
speaker. The strong form of "“to' is [fUtfand the weak form is
Jt3] .But the speaker uses [tU/ in the following examples.
Examples - 1) and then move on to two or three S2A 034
Fage No.1l Line No.2
2) Holidays' important book is ‘Learning How
to Mean' S2A 034 Page No./ Line No.lf
So the speaker tends to use /tul.
(e} from - The speaker uses ‘from' 10 times, and all the
occurrences of it are unacceptable. From is always pronounced as
| from| instead of | framl. "
Examples ~ 1) We are moving from meaning to form, we are
moving from fluency to accuracy S2A 034
Fage No. 3:“(?;\13 nNo. 18, Kjl 1.
2) All the insights from a linguistic grammar
824 034 Page No.Z Line No. 10 -

The speaker tends to use | from| the strong form.

V) Auxiliaries :

(a) am - The auxiliary ‘am' occurs 4 times and all ¢the
times, it is pronounced unacceptable way. ‘Am' is pronounced as
/%m] instead of the weak form/3m| or-Iml.
Examples - 1) Now I amusing English S2A 034 Fage No.Yy
Line No. 13,
£ Am & really right the way I am writing, the
way I am drafting S2A 034 Page No.§, Line No.l§

So the speaker has a tendency to use /Xm] instead of [om) or /m/.
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(b) is - Auxiliary "is' occurs in the text B6 times and &3
times it is pronounced in an unacceptable way and remaining 23
times 1t is pronounced acceptably.'Ils' is sometimes pronounced as

isjwhere it comes in contracted forms.

Examples - 1) s0 it's not a question S2A 034 Page No.1 -
Line No.14.

2) That's second point B62A 034 Page No.3 .

Line ND.B-

Other times it is pronounced as /I%/ the strong form,instead

of sl orilz].
Examples - 1) grammar is not out,grammar js in SPA 034
Page No. 1. Line No. 6.

2) That js a kind of text S2A 034 Page No. /|

Line No. 2
So we can state that except contracted forms,the speaker has
a tendency to use !ITZ the strong form.
(c) are - There are 34 occurrences of the auxiliary ‘are'

and all the occurrences are pronounced in an unacceptable way.

Are has been pronounced as /d!x] in the following examples.
xamples - 1) we are teaching and learning English S2A 034
Fage No. 1. Line No.io'

2) We are not interested SPA 034 Page No. Q2 .

Line No.l#.

3) As a teacher we are around 82A 034

Page No. & Line No. 5

4) That we are using S2A 034 Page No.

l.ine No
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In the example No | and 2, the speaker should use the R.P. weak
form [3] and in the example 3 and 4, the speaker should use /2¥%/
But the speaker tends to use [qi¥l.
(d) was - There are 4 occurrences of auxiliary 'was' and all
the times, it is pronounced as/wbdd/ the strong form  and never
lw32] the weak form. The examples are given below
Examples - 1) This was tried out SBA 034 Page No. 11
Line No. 43 .

2) It was done S2A 034 Page No. {1 Line No.l4 -
(e} do - ‘'Do' occurs in the text 12 times and all the
occurrences of it are unacceptable. ‘Do’ is pronounced asldvl
which is neither a weak form nor a strong form. It is an
Indian variant.
Examples ~ 1) What I propose to dg this morning S2A 034

Page No.1l Line No.1.

2) How do I say S2A 034 Page No. 3 Line No. IS.
The speaker tends to use (dvl.
(f) does - There are 5 occurrences of the auxiliary ‘'does’
and all ¢the 5 times, 'does' is pronounced as a strong form
ldA1/ instead of weak form (d22(.

Examples - 1) What does he do every morning 82A 034

Page No. § Line No.Z,
2) How does he do that S2A 034 Fage No. 12
Line No. 3.
{g) has - There are 7 occurrences of auxiliary ‘has' it
is never pronounced as R.FP. weak form /92,2,5/ but it is always

pronounced as lhlll the strong form.
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Examples - 1) That grammar has a very important role S2A 034
Fage No.l Lina No.5.
2) He has presented SPA 034 Page No.2- Line No 9.
In the following example ‘has'’ is used as a strong form. But
the use of strong form is acceptable as it comes at the initial
position of the interrogative sentence.
Example ~ 1) Hag he come this morning ? SBA 034 FPage No.G™ |
Line No. 40 -
But, we can state that the speaker is not using the strong form
purposely here. The speaker tends to use the strong form
/Ihx2| everywhere in the sentence.
(h) had - ‘Had' occurs twice in the text and both the
times, it is pronounced in an unacceptable way.
Example - 1) We have had for years SBA 034 Page No. 0o
Line No.b .
In the above example [ bad| has been used which is neither a strong
form, nor a weak form because the strong form af‘had’is [ hxd| and
weak form is [3dl or |df.
In the following example the speaker usesihid/the stromg form .
Examples - 1) We had rapid review of S2A 034 Page No.9
Line No. 11
Here ‘had'comes as a Main Verb and so it becomes strong form.
(i) have - The auxiliary ‘have’ occurs 30 times and 21
times 1t is pronounced in an unacceptable way. The atrong form
of ‘have' is used and the never weak form.In the following exam—

ples the speaker uses [ hav] unnecessarily.
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Examples - 1) we have been using S2A 034 Page No.p Line Nc? .

2) what they have done S2A 034 Page No. #

Line No.13 .

3) So 1 have marked S2A 034 Page No.llLine No. #.
When ‘have' comes as a Main Verb at that time, it is pronounced
as a strong form. Following are the examples.

Examples - 1) You have a network of verb 82A 034

Fage No. 3 Line No. &
2) 1 have English classes §2A 034 Page No.q
Line No. 14
In one context ‘have' is used as /hdv which is not a strong form

as well as a weak form.

Example - 1) We have had for years.S2A 034 Fage No.

Line No.
Here have should be pronounced as [hxv/.

We can observe that the speaker has a tendency to use

‘/biyl everywhere., The strong form is not used by the speaker
purposely.
(i) shall - No occurrence
(k) will - There are BO occurrences of auxiliary ‘will® and

all the occurrences are pronounced in an unacceptable way aslwrl/

the strong form and never /3] or [t the weak form.
Examples - 1) You will have to have S2A 034 Page No.7 .
Line No.3.

2) That our move will be from S2A 034
Fage No. 41 Line No. g,

So the speaker tends ¢to use/unﬂ/ every where,
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(1) would - No occurrance
(m) can - There are & occurrences of the auxiliary ‘can' and

all the occurrences are unacceptable. All the times it is pro-

nounced as /Kxnl.
Examples -~ 13 Very little gan be done now S2A 034
Page No. {1 Line No.
2) He can also say S2A 034 Page No.}2 Line No.§{
(n) must ~ There are 9 occuwrrences of ‘must' out of which
only once it ia acceptably pronounced. All other times, it is

pronounced as /MAst] the strong form unnecessarily.

Xa es -~ 1) They must be accurate S2A 034 Page No.)
Line No.q

2) That the teacher must know S2A 034 Fage No.ﬂo

Line No.g .
In the following examples the weak form /WWSHhas been used.

xample -~ 1) The teacher gust know that the use of passive

S2A 034 Page No. 10 Line No.B .
It in a tendency of the speaker to use /ﬂms*’the strong form -

is [bz]. The speaker

(o) be — The weak form of auxiliary ‘be’

uses it 10 times and all the times it is used as /bfl,R.P.
waak form

Example - 1) They must phe accurate S2A 034 Paée Na.7

Line No.j
2) The fours will be on SPA 034 Page No. 1%,

Line No. 13.

It is a tendency of the speaker to use (bIl.
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3.4.3 General Comments

I Articles :

(a) A - Speaker uses /) as well as e/ .When the speaker
wants to give stress on the following syllable,/Q/ has been used.
(b) An - ‘An' 1is always pronounced as/xn{.

(c) The - The gpeaker is quite confused about the use of
131 or |32 ,s0metimes /3] has been used even if there is a
consonant after it. It seems that when the speaker wants to give
stress on the following syllable,at that time the speaker uses /%1y,

(d) Some - Some has been acceptably praonounced as R.P. weak

form |sam].

IIY Conjunctions :

(a) And -~ The speaker tends to use /Xn[ instead of R.P.
weak form [an] or In).

(b) As — 'As' is pronounced by the speaker as [1z].

(C) But -~ Most of the times the speaker pronounces ‘but ' as
R.P. weak form /batl/.

(d) That - Most of the times, the speaker tends to use (3xt)

instead of /33t].

(e) Than - ’'Than' is pronounced as | 3xn{.

I111) Pronouns 3

(a) He - The speaker tends to pronounce ‘he'as IhTl which is

an Indian variant.

(b} His - 'His' has been pronounced as /htzl,the strong form.
(¢) Him - ‘Him' has been pronounced as (hImi,
(d) Her - No occurrence
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() Them — 'Them' is pronounced by the speaker as [ 3em].

(f) Us —- No occurrence.

IV) Prepositions :

(a) At -~ The speaker, most of the times uses [xtl.

(b) For - ‘For' is pronounced by the speaker as /[fovl.

(c) Of - 'Of' is pronounced by the speaker as /DF[ or [oVI.
t(d) To - 'To! is pronounced by the speaker as /tU/ ,Indian
variant.

(e) From - The speaker pronounces /from/instead of /framl,

V) Auxiliaries :z

(a) Am - The speaker has a tendency to use /xm/ ever ywhare .
(b) Is - ‘Is' is pronounced as |I2/, and [/S! in contracted
forms .

(c) @are - Tha speaker uses [Tl orld!| instead of (3] or [ar].
(d) Was - The speaker nearly all the times uses /wDZ/.
(e) Do -'Do' ia always pronounced as /dvi neither the strong

form ldut/ nor the weak form [dal

(f) Does - The speaker uses |diz/ instead of /d32l.
(g) Has -~ The speaker uses |hx2] instead of /92,%Z,Sl.
(h) Had - The speaker uses /hxd] instead of /ad, d/.
(i) Have - The speaker uses /hxv/ instead of /3V,vi.

(j) Shall- No occurrence.

(k) Will -~ The speaker tends to use/WI!| instead of/l/ or /3]/.

(1) Would - NoO occurrence .

(m} Can - is always pronounced by the speaker as /| Kxn/.

(n) Must - is always pronounced by the speaker as /rnAgtI.
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(o)

3.5 Face to Face Conversation

is always pronounced by the speaker as Ibr/

acceptable R.FP. weak from.

(Speaker - A and Speaker - B) SIA (048

3.5.1 Table No. 1 Speaker - A
Words Occurrence Frequency of Frequency of FPercentage
by Speaker QOccurrence Pronunciation of Pronun—
A Near R.P. Which is ciation Near
Indian R.FP.

I Articles

a) a 04 04 00 100 %
b) an - - - -

c) the 30 Q7 a3 ?4.00 %
d) some 03 03 00 100 %
I1I) Conjunctions

a) and 37 03 34 8.10 %
b) but o8 o8 0o 100 %
c) as oe 00 o2 00 %
d) that es 0o e5 00 ¥%
e) Than - - - - %
I11) Eronouns

a) he og oo oe 00 %
b) his - - - - %
c) him - - - - %
d) her - - - - %
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Words Occurrence Frequency of Frequency of Percentage

by Speaker Occurrence Pronunciation of Pronun-
A Near R.P. Which is ciation Near
Indian R.F.
e) them oe - oe 0 %
f) us 04 04 00 100 %

IV) Prepogitions

a) at oe 00 o2 00 %
by for s 01 04 BO %
c) of 18 01 17 5.95 %
d) ¢to 38 Ot 37 2.63 Y%
e) from D& 00 06 00 %

V) fAuxiliaries

a) am 01 00 01 00 %
b) is 39 o9 30 £3.07 %
c) are 11 00 11 00 %
d} was 01 a0 01 00 %
e) be 03 03 00 100 %
f) have 35 23 i2 65.71 %
g} has - - - -

h) had - - - -

i} do o9 01 o8 11.11 %
j) does - - - -
k) would o1 00 01 00 %
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Words Occurvrence Frequency of Frequency of Percantage

by Speaker Occurrence Pronunciation of Pronur—
A Near R.F. Which is ciation Near
Indian R.P.
1) will 11 00 11 00 %
m) must 0é6 03 03 50.00 %
n} can 04 0o 04 o0 %
o) shall - - - -

3.5.2 Analysis, Observation and Comments

1) Articles :

(a) a =~ Article ‘a' has been praonounced by the speaker - A
4 times and all the occurrences of it are R.P. weak form/2/.
Examples - 1) quite a few SIA 048 Fage No.§ Line No.Q

2) They make it a point SIA 068 Page No. (

Line No.4% .
s0 the speaker - A pronounces it as /3.
(b)) an - No occurrences

() the -~ There are 50 occurrences of article "the' and 47
times it is acceptably pronounced and only thrice it is
pronounced in an unacceptable way.
In the following examples 'the' has been pronounced as/¥3/.
Examples - 1) The climate, thg ways of dressing.SIA 068

Page No.41 Line No.jg

2) That is the right time SIA 068 Page No.2

Line No.1S -

In the following example /3t] has been pronounced .

Example - 1) the understanding SIA 048 Page No.lS Line No. 11
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Sometimes it is pronounced as | %3] even if there is a vowel after
it.
Examples - 1) Yes the opposite SIA 068 Page No.3 Line No.9

2) In Goa, the environment SIA 068 Page No.|1S .

Line No.lQ .

In above examples 133/ should be pronounced instead of /¥3 .We can
observe that the speaker has a tendency to use | 2/ without
taking into account the phonetic environment.

(d) Some -~ There are 3 occurrences of article ‘'some’ and
all the times the speaker pronounces it as Issm] R.P. weak form.

Example — 1) There are some schools, where the teacher,

gome schools I noticed SIA 068 Fage No. IS

l.ine No. ’6-

I1I) Conjunctions :
(a) and - There are 37 occurrences of conjunction ‘“and' and
34 times it is pronounced in an unacceptable way and only 3

times 1t is pronounced acceptably. ‘And' has been pronounced as

[xn] in the following examples.
Examples - 1) Even traffic and all SIA 068 Page No.lL
Line No. 10 .
2) well,teach and go SIA 068 Page No.l2 Line No.lS™

In the following examples ‘and' has been pronounced as a weak

form [2n].

Examples - 1) and we go together SIA 048 Page No.6 Line No.11.

2) Christians and Muslim SIA 068 Page No.S

Line No. 3.

S0 we can state that the speaker has a tendency to use /Xn/ which
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is neither a weak form, nor a strong form,/hﬂis an Indian variant.
(b) but ~ There are B8 occurrences of conjunction ‘but' and
all the occurrences, are pronounced by the speaker us R.P., wesak
form,“ﬁf}that is acceptable pronunciation:
Examples ~ 1} Not much but I enjoy SIA 048 Fage No. (b

Line No. g |

£2) privet schools are there many. But they are of

no use SIA 068 Page No.10 Line No. 17,
(c) as - There are 2 occuwrrences of conjunction'as' and both
the times 1t is pronounced as/IIL
Example - 1) English environment as such SIA D468 Page No. IS

Line No.{$
(d) that - There are 85 occurrences of 'that, and 23 occur-
rences are unacceptable, and only twice it is pronounced accept—
ably. So many times, that has been pronounced as /%It],
Examples - 1) Only one thing that you know SIA 068

Fage No. IS Line No.{3.

2) the thing is that your Engliah SIA 068

Fage No. 3 Line No.lYy .
Only in the following example it is pronounced as /Kat/,
Example - 1) Yes that is religious, you have to do that

first SIA 048 Page No.§ Line No.l

II11} Pronouns 13

(a) he — The pronoun 'he' occurs twice in the text and both
the times it is pronounced in an unacceptable way as /hrl which ia

neither a weak form nor a strong form, {hI]is an Indian variant.
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Example - i) He is very nice to me he's very nice SIA 048
Fage No. 44 Line No. 14 .

(b) his - No Occurrence .

(¢} him - No Occurrence .

(d) her - No Occurrence .

(e) them -~ The pronoun "them' occurs twice and both the

times it is pronounced in an unacceptable way as [ Bem].

Examples - 1) looking at them SIA 08 Page No.g Line No.g

2) to teach them ABCD SIA 068 Fage No.ly Line No.3

(f) us — The pronoun ‘'us' occurs 4 times and all the times
it is pronounced as /73s/ R.F. weak form.
Examples - 1) all of us SIA 068 Page No. 1 Line No.G

2) They invite ug SIA 048 Fage No.( Line No. 11 .

V) Prepositions :

(a) at - The preposition 'at' occurs twice in the text and
all the times it is pronounced as Ixt| which is a strong form.

Examples - 1) looking at them.SIA 068 Page No.{ Line No.{
2) everything at home SIA 068 Page No.9d
Line No. I3
So the speaker has a tendency to use/xt/ Strong form ummeces-—
sarily.
(b)) for — 'For' occurs 9 times in the text and 4 times 1t is
pronounced in an unacceptable way and only once it is pronounced

as R.F. weak form. In the following example’rbf has been pro-

nounced .
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Example - 1) very nice for we all have come SIA 068
Page No.1 Line No. 3
In the following examples /forY| has been pronounced .

We go for disco, SIA 048 Page No.7 Line No. |2 .

Examples - 1)

2) Like for example SIA 068 Fage No.§ Line No. 4.
In example No. 1 ‘For' should be pronounced aslf?/ and in the
example No. 2 ‘for' should be pronounced as prYf,as thare is
vaowel after i1t. And in the following examples 'for' is pro-

nounced as /fo| instead of /fal.
Examples - 1) holidays for Ganapati SIA 048 FPage No.5
Line No.l8 .
2) for these students SIA 048 Page No.§ Line No.l,
s0 the speaker is not aware of the use of weak form . The

speaker pronounces it as | fol or |fo¥l.

(c) of - There are 18 occurrences of preposition ‘of' and

16 times, it is pronounced in an unacceptable way, and only twice

it is pronounced as R.P. weak form/avl.
In the following examples of is pronounced as/bv/.
Examples - 1) all of us SIA 068 Page No.1 Line No.O
2) the way of dressing SIA 048 Fage No.q
tine No.9
In the following exampleas [of| has been pronounced by the speaker.

xamples - 1) cleaning of the house, or decoration of the

house SIA 068 Page No. §Line No.|(
2) because of that SIA 068 FPage No. (4 Line Nob
‘In the following example (3v|/ has been pronounced, instead of/vl

because |V| should be pronounced after‘ I, we, youf
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Example - 1) lot of social activities SIA 068 Fage No.?)

Line No.{$" -

In the following example/?VIis rightly pronounced.

Example - 1) because of rain SIA 068 Fage No.2 Line No. § .
(d) to - There are 38 occurrences of ‘to' 37 times, it is

pronounced in an unacceptable way and only once it is pronounced
acceptably as R.P. weak form.
‘To' is pronounced as Itvl in the following examples .
Examples - 1) all of us to come %o close together SIA 068

Fage No. 4, Line No.g

2) then you go to church SIA 068 Fage No. L

Line No.10.
And only in the following example,ltﬁ is pronounced.
Example - 1) I mean to say. SIA 068 Page No. Line No.
So the speaker has a tendency to use It Indian variant and
neither R.P. weak form nor the strong form.
(e} from — The preposition "from' occurs 6 times and all the
times it is pronounced as [from|the gtrong form unnecessarily.
Examples - 1) anything from out SIA 068 Fage No.9 Line No. T4 .
2) very far from my place SIA 068 Fage No.9

Line No.‘ﬂ

VI) Auxiliaries :

(a) am - The auxiliary “am’ occurs only once in the text and

it is pronounced as /am instead of Iml.
Example - 1) I am saying. SIA 068 Page No.J0 Line No.3.

. )
Im| is pronounced after‘I, but here /3] is used by the speaker
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(bh) is - ‘'Is' occurs 39 times and 30 times it ias pro-
nounced in an unacceptable way and only 2 times it is pro-
nounced as R.P. weak formlSl.
In the following examples ‘'is'is pronounced as [I2/ the strong
form, umecessarily.
Examples - 1) My name is Veena Manezes SIA 068 Fage No.1
Line No.4:

2) or whatever it js SIA D68 Page No. bLine No 13.

In the following examples /2/ is rightly pronounced. Because
IZJ is pronounced after vowels and voiced consonants except/z,%,dgj-
xamples - 1) It is really nice SIA 048 Page No.5 Line No. /S .

2) He's very nice SIA 048 Page No.{] Line No. {3
In the following examples [/S/ has been pronounced.
Examples - 1) It's so nice SIA 0468 Page No.{ Line No.3.
2) It's very tiresome SIA 068 Page No./0 Line No )
We can state that in contracted forms /S| has been used. But
we can observe that the speaker has a tendency to use the
strong form/I2/.
(c) are -~ There are 11 occurrences of ‘are' and all the
occurrences are pronounced in an unacceptable way.In the follow-
ing examples ‘are' is pronounced as /.¥/.
Examples = 1) There are some plang SIA 068 Page No. &
Line No.J,
2) But they are of no use SIA 068 Page No.f0
Line No. i;. .
In example No. 1 ‘are' should be pronounced as/h/ and in the
No. 2 ‘are' should be pronounced as [3Y[.In the following

example

examples ‘are' is pronounced as /d:/[.
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Examples - 1) Private schools are there SIA 068 Page No. jo
Line No.1%.
2) How, they are going to write SIA 04B Page
No. Line No.
S0 the speaker has a tendency to use [dir],
(d) was - ‘Was' occurs only once in the text, and it is pro-

nounced as [wWDZ/ instead of [ W3z/.

Example - 1) It was the case in Goa SIA 068 Page No. 2
Line No.Q .
(e) be - ‘Be! occurg thrice in the text and all the times

it is pronounced as /br|{ R.F. weak form.

Xa e ~ 1) What I would beg SIA 048 Page No.lo Line No.Z 

(f) have - ‘Have' oeccurs in the text 35 time, and 23 times it
is acceptably pronounced and 12 times it is pronounced in  an
unacceptable way. ‘Have' when comes as a Main Verb, is pronounced
as a strong farm havl].
Examples - 1) You have to face SIA 0&8 Page No.2 Line No.fl\

2) Holi also we have SIA 068 Page No. 6 Line No.5

In the following example ‘have' is pronounced aslhﬂdinstead of
I2vl or (VI
xamples - 1) all have come SIA 068 Page No.j Line No. Y

2) So{you can havea your choice SIA 068 Fage No. 7
Line No.§.
In the example No. l/bndshculd be pronounced. and in the example
No.ﬂavl should be pronounced as it is used as a Main Verb.
(g} has - No occurrence -

(h) had - No occurrence.
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(1) do — There are 9 occurrences of ‘do' and 8 times it

is pronounced in an unacceptable way and only once 1t is pro-

nounced acceptably. In the following examples ‘do 18 pro-

nounced as/dU/neither the weak formkﬁl or the strong form [dut/.

Examples ~ 1) You have to do that SIA 068 FPage No. 8

Line No.41.
2) We can't do SIA 048 Fage No.Q Line No.9.

Only in the following examplefdﬂ has been pronounced acceptably.

do you have social life there? SIA 068

Example -~ 1)
Page No.'q Line No. 13.
(j? does -~ No occurrence.
(k) would - Only once ‘would' occurs and it is unacceptable

pronunciation huvdﬁ

Example - 1) what I would be SIA 068 Page No. PLine No 3

(1) will -~ ‘will!

accurs 11 times and all the times it is

pronounced as |wWIl/ ,strong form unnecessarily.

- 1) will you come to Goa SIA 068 Fage No.?3

Examples
Line No.1S
2) I will tell you‘SIA 068 Page No. |2 Line No.9 .
(m) must — 'Must' occurs 6 times and 3 times it is pronounced

as[mast] R.P. weak form, and thrice it is pronounced as [/mast]

strong form unnecessarily.

In the following axamples/ﬂwif’ has been pronounced,

Examples -~ 1) You must have nice company 8IA 068 Page No.S5.

Line No. |

2) That you must do SIA 068 Fage No.® Line No 2

In the following examples /mASt/ has been pronounced.
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Example - 1) So you must be enjoying SIA 068 Fage No.3.
Line No.{
2) Yes we must come SIA 068 Page No.y Line No.(§ .
(n) can — ‘Can' occurs 4 times, and it is pronounced in an

unacceptable way. It is pronounced as/Kzn|.

Examples - 1) You ¢an enjoy in Goa. SIA 068 Page No. 2
Line No.lS .

2) So you can have your choice SIA 068
Page No.7 Line No.5§5.

so the speaker has a tendency to use /Kxn| ,strong form.

3.5.3 General Comments

1) Articles :

(a) A - The speaker pronounces ‘a' as 3] R.P. weak form.

(b) The - The speaker uses 'the' [ 32)whenever there is a
congonant after it, and or whenever there is a vowel after it
s0 the speaker has a tendency to use [¥3l.

(c) Some — The speaker uses /[Sdm] R.F. weak form.

(d) An -  No occurrence .

I1) Conjunctions :

(a) And - Nearly all the times the speaker pronounces " and'
as /xnl.
(b) But - The speaker uses R.P. weak form /bt/

i

(c) As The speaker uses 22/ the strong foram.

(dy That —'That' has been pronounced by the speaker as strong

form | 3xt] urmecessarily .
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III) Pronouns 1

(a) He - The speaker pronounces ‘he'as /hr/ neither the strong
form | hi:] nor the weak form [1:].

(b) His - No occurrence .,

(c) Him - No occurrence ,

(d) Her - No occurrence ,

(e) Them — The speaker uses the strong form /5&Mnot the weak
form [ Bam|.

(f) Us ~ The pronoun ‘us' has been acceptably pronounced by

the speaker as R.P. weak form /2§/.

Iv)

{a)

Prepositions :

At ~ The preposition 'at' has been pronounced by the

speaker as the strong form /2t/.

(b)

For - ‘For' has been pronounced as fﬁﬂ or | for/ without

locating the phonetic environment.

(c)

form

(d)

Of ~ The speaker has a tendency to use IDF] the strong

or I0V] the Indian variant.

To - The speaker has a tendency to use WﬁU/which is not

a strong as well as weak form, /tv/is an Indian variant.

From - The speaker uses [ Fyom|the strong form unnecessarily,

(e)

IV) Auxiliaries :

(a) Am ~ The speaker uses weak form [3m] instead of Iml.

(b) Is ~ The speaker has a tendency to use !I2] the strong

form uwumecessarily. The weak form/S! is used only in contracted
forms.
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(c). Are ~ Most of the times the speaker uses /d!¥ or /d:/.

(d) Was ~'Was'is pronounced by the speaker as strong form/wbD2/,
(a) Be -~ The speaker acceptably pronounced 'be' as /bI/R.P.
waak form.

(f) Have -~ The speaker has a tendency to use the strong form
Jhyv | every where,without locating the phonetic environment.

(g} Has ~ No occurrence .

{h) Had - No occurrence ,

(i) Do — The speaker uses/dﬂinstead of [dwl the strong form,
or lda}the weak farm.

(i) Does ~ No occurrence,

(k) Would - The speaker uses the strong form/wvd/instead of

[2d] or{d].

(h) Will - The speaker uses the strong form (WIl/and never (3l/

or /t].
(m) Must — The speaker uses Jmnst] as well as [ mostl.

(n) Can -~ The speaker uses the strong form IKxn .
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3.5.6 Speaker - B
Table No.2
Words Occurrence Frequency of Freguency of Percentage
by Speaker Pronunciation Pronunciation of Pronun-—
B Near R.F. which is ciation Near
Indian R.P.

I) Articles

a) a 0s 05 00 100 %

b an - - - -

c) the 23 20 03 86.93 %
d) some 01 01 00 100 %
I1) Conjunctions

a)y and G444 | 04 40 Q.09 %
b} but 10 10 0o 100 %
c) as og 00 o2 00 %
d) that 12 00 12 00 %4
e) Then o2 oo ae 00 %
IIl) Pronouns

a) he ce 00 02 00 %
b}y his 01 01 0o 100 %
c)r him - - - - %
d) her - - - -

#2) them 01 0o 01 0 %
f) wus o3 03 00 0o %
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Words ODccurrence Frequency of Frequency of Percentaqge

by Speaker Pronunciation Pronunciation of Pronun-
B Near R.F. which is ' ciation Near
Indian R.P.

IV) Prepoeositions

a) at 01 00 01 00 %
b)) for 07 0o 07 00 %
c)y of a7 oe 05 e8.57 %
d) to 16 00 16 00 %
e) from 03 01 oe 33.33 %

V) Auxiliary

a) am 03 00 03 00 %
b) is 38 13 25 34.21 %
) are 10 00 10 00 %
d) was 01 01 00 100 %
e) be - - - -
f) have 21 19 aa ?0.47 %
g) has oe 00 oe o0 %
h) had - - - -
i) do 08 - 08 00 %
jr does - - - -
k) would 01 - o1 00 %
1) will 01 0o 10 00 %
m) must - - - -
n) can 03 00 05 00 %
o) Shall - - - -
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3.5.7 Analysis, Observation and Comments

I) Articles
the times.

[y

(a) a ~ The speaker pronounces ‘a' as /3/ all

The examples are given below.

Examples - 1) We enjoy a lot SIA 068 Page No.] Line No.5™ -

2) It's g private institution SIA 068

-

Page No. 1l Line No.46:

(b} an - No occurrence ,
(c) the - There are 50 occurrences of article 'the' and 47
occurrence are pronounced acceptably, and only 3 occurrences are
unacceptable. In the following examples ! 3/ is pronounced
by the speaker,
Examples - 1) the monsoon is receding SIA 068 Page No.4i.

Line No.l§ .

2) just the reverse SIA D68 Page No.3 Line No.fl -

But in the following examples /¥I/has been pronounced even if
there is a consonant after it.
Examples - 1) I like all the teachers SIA 068 Page No.46

Line No.®

and the

(d) some - There are 3 occurrences of article 'some'

speaker uses it as /saml.

Example - 1) in saome words SIA Page No.JSLine No.3

II Conjunctions :

(a) and — There are 37 occurrences of ‘and' by speaker— B in

the text and 34 times it is pronounced in an unacceptable way.
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All the 34 times ‘and' is pronounced as [%¥h]. Examples are given

below .
Example - 1) lights and all SIA 048 Page No.b Line Na.f}

2) You go angd enjoy SIA 068 Page No.J
Line No 13-
In the following few examples, ‘and' is pronounced as R.F.

weak form /0],

Example - 1) The Hindus and Muslims SIA 068 Page No.b .

Line No.§
2) cleaning up and every thing SIA 068

Page No.3 Line No. Y

(b) but - There are 8 occurrences of conjunction ‘but',and it
is pronounced as R.P. weak form /bath
Examples - 1) But summers SIA 068 Fage No. 3 Line No.6 .
2) 1 was very homesick but now I am feeling
SIA 068 Page No. 16 Line No.S.
(c}) as — There are 2 occurrences of conjunction ‘as' and alil

the times, it is pronounced as [X2/.

Exgmple - 1) There are so many parties as I suppose in Goa
SIA 0468 Page No.Y. Line No 1% .

(d) that - There are 285 occurrences of conjunction 'that'

and 25 times it is pronounced as [3xt].

Examples -~ 1) And that too very SIA 068 Page No. 2
Line No.4 .

2) Yes that depends SIA 068 Page No.3 Line No.!§ .

III Pronouns 12

(a) he - There . are 2 occurrences of pronoun ‘he' by speaker B

and both the times 1t is pronounced in an unacceptable way.Once
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it is pronounced as strong form /hfd unnecessarily,

Example - 1) If he is good then SIA 068 Page No. 11.

Line No.i%.

And once it is pronounced as [AT1] which is Indian variant, neither

a strong form, nor a weak form.

Example - 1) How ha manages SIA 068 Page NoJd2 Line No.1l.

(b)) him - No occurrences .

(c) his -  The pronoun ‘his' occurs only once, and 1%t is

pronaounced acceptably as IT2] R.P. weak form.

Example - 1) How he manages his classes SIA 048 Page No.1Q .
Line No A

{(d) her - No occurrences.

(g) them - ‘Them' occurs in the text only once, and it is

pronounced in an unacceptable way as /[3em|/instead of /ZFam|,

to them SIA 068 Page No.16

Example - 1) very grateful
Line No.9 .
(f) us - ‘Us' is pronounced by speaker~- B thrice in the
form [35].

text and all the three times i1t is pronounced as R.P. weak

Example - 1) Pleasant season for ys SIA 068 Page No. 3

l.ine No. 3.

IV) Prepositions :

(a) at - The speaker pronounces ‘at' only once, it is

pronounced as a strong form fxt| unnecessarily.

1) higher at stages — SIA 068 Page No. 15"

Example -
Line No.1.
(b)Y for ~ The speaker pronounces 'for' 7 times in the text,

and all the times it is pronounced in an unacceptable way. Most
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of the times it is pronounced as /fp|. Examples are given below
Example -~ 1) For four or five days SIA 048 Fage No.1

Line No.16.

2) Yes for us SIA 068 Page No. 2 Line No.lS:

In example No. 1 'for' should be pronounced as/ﬁ5) and in exam-
ple No. 2 'for' should be pronounced as |f>7¥/.
In the following example the speaker uselebﬂ inatead of(f?,-
Example - 1) I worked for three SIA 068 FPage No.4$

Line No.92.
(c) of - There are 7 occurrences of preposition 'of', twice

it is pronounced as weak form bvlas in the following examples.

Examples - 1) High variation gf temperature SIA 068

Page No.3 Line No. 1%
2) studying point of view SIA Page No. 1l
Line No.§8 -
But in other examples, it is either pronounced by the speaker as
’DPICN'/DVF In the following examples, IDF/ has been pronounced by
the speaker.
Examples - 1) First of all SIA 068 Fage No.% . Line No.iS -
2) Most of the time SIA 068 Page No.l Line No.16.
And 1n the following example /DV/ has been pronounced,

1) that kind of mentality. SIA D48 Page No.i12

Example -
Line No. 7 .
(d) to - There are 16 ococurrences of preposition ~to! in

the text and all the times, it is pronounced in an unacceptable
way as /iuﬂ an Indian variant It is never pronounced as Ltuﬂthe

strong form, or’taf the weak form ,
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Examples - 1) nearly to fifty to fifty degrees SIA 048

Fage No.3. Line No.+¥.

2) to come to my place 6IA 068 Fage No.l.

Line No.p.
(e} from -~ There are 3 occurrances of preposition "from' and
once it is pronounced as wesak form H;Nﬂ,and other 2 times it is
pronounced as/fram] the strong form. In the following example,it
has been pronounced/ fyaml.
Example -~ 1) to come over from there SIA 068 Page No.16 -

Line No.l.
And in the following examplelﬁ?ﬂm[has been pronounced.
Example - 1) I am Charul from Fillani, SIA 048

Page No. 1 Line No.j

V) Auxiliaries :

(a) am - There are 3 occurrences of auxiliary ‘am' and all
the ¢times it is pronounced in an unaccaptable way. All the 3
times it is pronounced as [2m] instead of IMl. Even if [am| is a
weak form, the phonetic environment demands lnﬂfs Im| should be
pronounced after the pronoun "I
Examples - 1) I am Charul SIA 068 Page No.4{ Line No.l

2) But now I am feeling SIA 068 Fage No. 4§ |

Line No.5”

{b) 1is - There are 38 occurrences of auxiliary ‘'ia’ 13
times it is pronounced as acceptable R.F. weak form, and 235 times
it is pronounced in an unacceptable way. In the following exam-

ples IIthhe gtrong form has been used unnecessarily,
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Examples - 1) the monsoon is receding SIA 068 FPage No.i
Line No.ih.
2) It is just the opposite SIA 068 Page No. 3,
Line No.#.
The speaker uses the weak form /S]] in the following examples
Examples -« 1) it's just the reverse SIA 068 Fage No.?% .
Line No.2
2) That'sg better, that's the thing S1A 068
Page No. !3 Line No.12 .
In above examples /S| has been used in contracted forms. And in

the following examples |2 R.P. weak form has been acceptably

used as is used after vowels and voiced consonants exeept/z,g,d5h
Examples - 1) Climate is very varying SIA 068 Page No.A
Line No.10 .

2) It is desedmt area SIA 068 Page No.4 Line No 1]
So we can observe that the speaker is quite confused about the

pronunciation of the auxiliary ‘is',
(c) are - The speaker uses ‘are' 10 times and all the times
it is pronounced in an unacceptable way. Most of the times

/Q:Yl is pronounced by the speaker. In the following examples

I has been used by the speaker.
xample - 1) So summers are too hot SIA 068 Fage No.b .
Line No.1]

2) There are so many parties SIA 068 Page No. §.

Line No l4.

In the following examples, MUYIhas been used by the speaker,

Examples - 1) These are the main SIA 068 Page No. F Line No '3
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2) private schools are better SIA 068 Page No. 11

Line No.8-

In the above examples [3] R.P.weak form should be pronounced

instead of Jd!| or [d!¥].

(d) was - The sapeaker uses ‘was' only once and the speaker

uses it acceptably as [132/.
Example - 1) I was very homesick SIA 048 Page No.16.

Line No 8 4 .

(e) be - No occurrence .

() bhave — There are 21 occurrences of ‘have' and the

speaker pronounces it acceptably 19 times, and only twice it is
pronounced in an unacceptable way whenever ‘have' is used as a

Main Verb, it is pronounced as a strong form [hxvl. The examples

are given below.

Examples - 1) You have rains there SIA 068 Fage No.2

Line No 3 .
2) We have pooja SIA 048 Page No.?. Line No.§.

But in the following example we can also notice that the speaker

uses Indian variant/hyv] instead of strong form [hiv/.

Example - 1) These two hayve 80 SIA 068 Page No.5

Line No.9 .

And in some of the examples the speaker uses [hxv] instead of the

or IV,

weak form/a3v/
1) I have noticed SIA 068 Page No.iS Line No.l.

Examples -

80 we can say that it is a tendency of the speaker to use /hxvl in

all kinds of phonetic environments.

(g) has - The speaker pronounced ‘has’' twice and all the

times it is pronounced in an unacceptable way as /hxal.
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Examples - 1) Whole campus has been made SIA 048
Page No. 10 Line No.9
2) But it has been a change SIA Dé&B Page Na.16
Line No.24 .

In above examples, the apeaker has used /511/ instead of R.P.
weak form/[z2|.
(h) had - No occurrence.

(1) do - There are 8 occurrence of auxiliary '‘do' and all
the times if is pronounced as [dv/ sinstead of R.P. weak form
ldal or strong form [du:(,

Xa aes - 1) They come to dg Laxmi pooja. BIA 048

Page No.7l Line No.16.

2) So how do you dg SIA 068 FPage No.&

-

Line No.5.
(j)) does -~ No occurrence .
(k) would -~ The auxiliary ‘would' has been pronounced by the

speaker only once and it is pronounced unacceptably as /uﬂfdﬁ

Examples - 1) They would get clocked here. SIA 068
Page No.7 Line No.3.

{1) will ~ There is only 1 occurrence of auxiliary ‘will’
and it is pronounced in an unaccep;able way as /uHV/instead of
[21] or 11].
Example - 13 1 will come sometime. SIA 068 Page No. 3

Line Na.16.

(m) must — No occurrence.

(n) can -~ The auxiliary ‘can' oceurs 95 times and all the

times 1t is pronounced as strong form [ Kxnl,
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xamples - 1} You can really enjoy life SIA 068
FPage No.4 Line No.1?-
2) They can talk to you SIA 068 Page No. 16 .
Line No.9

(o) shall - No occurrence .

3.5.8 General Comments

I) Articles :

(a) A ~ The speaker pronounced ‘a' as R.P. weak form /2/.
(b) The — ‘The' is pronounced as [ ¥2/ by the speaker,

(c) Some — The speaker acceptably pronounces ‘some' as

R.P. weak faorm Jsam|.

I11Y Conjunctions :

(a) And - Most of the times ‘and' has been pronounced as /xn/.
(h) But - The speaker uses R.P. weak form [b2tl.

(c) As ~ The speaker uses strong form [X2]/ unnecessarily .
(d) That -'That' has been pronounced by the speaker as /3xt|

never | B2t the weak form .

III) Pronouns @

(a) He - ‘He' is pronounced as [hi:/ or 1 h1/
(b) His —-'His'is pronounced by the speaker as R.FP. weak form [Lzl.
(c) Them - The speaker uses /|%¥em] instead of [ Faml.

(d) Us - The speaker uses R.P. weak form [2S].
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IV) Prepositions :

(a) At - The speaker uses /xt| instead of (3tl.

{b) For - The speaker uses!f0| or [for/instead of R.P. weak form
[F21 or [Fixl,

(c) Of - The speaker uses DV or /DFf] instead of /aVv/.

(a) To— The speaker uses | Lv/ ,Indian variant,! instead of

R.P. weak form [td/.

(f) From - It is a tendency of the speaker to use !from|instead

of | fram]|,

V) Auxiliaries g

(a) Am — The speaker uses [d3m]|.Even if |2m] is a weak form, it
is noticed that the speaker 18 unaware of the use of the weak
form )| after the pronoun ‘I', and uses [3m] instead of [m],

(b) Is - 'Is' is pronounced by the speaker as [[2).The speaker
uses /S| in contracted forms.

{(c) Are - The speaker uses (] or 1Q!r].

(d) Was ~ The speaker uses /W),the R.P. weak form.

{(e) Have — The speaker has a tendency to use thV/ the gatrong
form, in all kinds of phonetic environments,.

(g) Has - The speaker uses | X2/ the strong form unnecessarily,
(hY Do - The speaker uses [dV| instead of /duyfor [d»].

(1) Would — The speaker uses lwvd{ jnatead of /2d/or [d].

(j) Will - The speaker uses [WIl/instead of |31/ or !l/.

(k) Can - The speaker uses]kxj\/instead Df[Kbnla
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